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Wednesday, August 6, 2014

--- On commencing at 9:36 a.m.


MR. SCHUCH:  Good morning, everyone.  Welcome to the technical conference for the draft rate order in proceeding EB-2012-0459, otherwise known as the Enbridge 2014 to 2018 custom IR rates proceeding.  I am Colin Schuch with Board Staff, and I am joined by Kristi Sebalj, Board counsel.


The Board in its July 17th, 2014 decision with reasons scheduled this technical conference today so that parties may ask questions about the draft rate orders filed by Enbridge last week on July 31st and yesterday, August 5th, the rate impacts, appendix D.


The draft rate orders -- and I note they are plural because there is an accounting order as well -- must reflect the Board's findings in the decision, so that is the objective of the draft rate order exercise and of today's session to confirm the draft rate orders to be satisfied and be satisfied that they properly reflect the findings and directives of the Board.


We will register appearances and then get underway. I believe Enbridge is prepared to do a very brief walk-through of the materials and then we will be open to questions from the parties.


So may I have appearances, please?

Appearances:


MR. CASS:  Thanks, Colin.  Fred Cass, counsel for Enbridge.  With me is Andrew Mandyam from Enbridge.  I will introduce the witnesses when we come to that.


MR. SHEPHERD:  Jay Shepherd, School Energy Coalition.


MR. BRETT:  Tom Brett, representing BOMA.


MR. AIKEN:  Randy Aiken, Energy Probe.


MS. SEBALJ:  And on the phone can we have your appearances, please?


MR. WIGHTMAN:  James Wightman on behalf of VECC.


MR. THOMPSON:  Peter Thompson for CME.


MR. QUINN:  And Dwayne Quinn on behalf of FRPO.


MR. MONDROW:  Ian Mondrow for IGUA.


MS. SEBALJ:  Murray?  Was Murray there?


MR. SCHUCH:  Murray?  Murray Ross?  He was there.


MR. ROSS:  Murray Ross from TransCanada.


MS. SEBALJ:  Thanks.


MR. SCHUCH:  Thank you, Murray.


Well, I think we have everyone, and with that I will turn it over to Enbridge.


MR. QUINN:  Just a procedural thing here, Colin.  You mentioned about evidence filed yesterday.  I went to the Board database, the website, and I don't see it in there.  Is it expected to be filed shortly?  It would help me if I have it in hand.


MR. BRETT:  Yes, I am the same.  I don't have it.  Sorry, Tom Brett here.


MR. SCHUCH:  I believe it was filed and sent to the parties yesterday.  I can double-check that.  Perhaps --


MR. SHEPHERD:  I got it.  The five-page document?


MR. SCHUCH:  Yes, it was appendix D to the draft rate order materials.


MR. QUINN:  I will go through the e-mails that I didn't get through maybe completely yesterday.  I don't see it, but anyway, I checked the website.  It's not posted on the RESS, so -- okay.  Lorraine sent it, I guess -- I got it now.  Okay.  Thank you.
ENBRIDGE GAS DISTRIBUTION - PANEL 1


Ryan Small


Jackie Collier

MR. CASS:  All right.  For the record then I will just quickly introduce the witnesses.  We have Ryan Small.  He is manager, regulatory accounting with Enbridge.  Also witness is Jackie Collier, manager rate design.  In the event that Andrew can or is needed to help out with any answers, Andrew Mandyam is here as well, of course.  He is director, regulatory affairs.


As you noted, Colin, the witnesses are prepared to do a walk-through of the filing made by Enbridge, so I will turn that over to Ryan to start.
Presentation by Mr. Small:

MR. SMALL:  Thank you.  Yes, this morning I was asked to maybe walk through the updates we made to the financial results.  So I thought maybe it would be, I don't know, easiest to look at one year and kind of walk through the adjustments that were made.


So I guess 2014 would be the easiest year to look at.  So I am looking at appendix A, schedule 2, page 1.  And I am generally looking at the column 2 adjustments.  So I think I will start talking about the adjustments we made and then where they show up here, as opposed to trying to work from the top down, because we will start interchanging issues.


So the first thing that we did was we updated for the Board's decision with regards to volumes and revenues, and specifically the 2014 addition of two new contract customers, and it has an impact on revenues of existing rates, which is seen at row 23.  It's an additional 500,000.  And an impact on gas costs, which is seen at row 4, an increase of 400,000.  We have only shown the 2014 impact here, as 2015 to '18 volumes and revenues will be reforecast annually.


So if I move to the next adjustment, it was to other revenues, and the Board's decision required us to set each year's other revenue and other income, which is the total in --

Questions by Mr. Shepherd:


MR. SHEPHERD:  Excuse me, just, sorry, I am just catching up to you.  Your adjustment of the contract customers?


MR. SMALL:  Yes.


MR. SHEPHERD:  It only applies to 2014, but I presume in your rate impacts for 2015 through 2018 you included that adjustment.


MS. COLLIER:  Not specifically.  In all honesty, Jay, the number is so small it doesn't really make a difference, because the two small customers, from a rate impact perspective it doesn't really alter the rate, so we didn't update each of our models to add in those two additional customers.


MR. SHEPHERD:  Okay.  So when you are going through the changes to the 2014 revenue requirement can you make sure you let us know which of those you did not carry through to 2015 through 2018?


MR. SMALL:  Okay.


MR. SHEPHERD:  Okay?


MR. SMALL:  I think that's the only one.  It was an oversight this morning that I just thought of that, oh, this probably has an impact on future years, but --


MR. SHEPHERD:  But it's only 100,000 a year, so --


MS. COLLIER:  Correct.


MR. SHEPHERD:  -- so --


MR. SMALL:  Still just an oversight on my part to carry it through.


MR. SHEPHERD:  Okay, thank you.


MR. SMALL:  So, sorry, I was saying the second adjustment was to other revenues, and you will see in row 10 of column 2 we have increased other revenues to get to total of other revenues and other income to equal the 42.8 that was per the Board's decision, which equals the 2013 actuals, and you will see a similar adjustment in each of the years.


The next adjustment that we needed to make, which doesn't show up in 2014 but was an adjustment to other O&M, if we were to look at a different year's schedule, you will see there is an adjustment to O&M, line 5 of page 1 of the other year's exhibits, like schedules 3 through 6, to reflect the fact that the Board required subsequent adjustments to other revenue to be held at 1 percent, and the reductions are per the Board's -- as laid out in the Board's decision.


So I guess the next significant adjustment that has numerous impacts is the Board's decision with regards to our site restoration cost proposal.  And there was a couple of adjustments, the first being we were required to reduce the amount of site restoration cost collected through depreciation rates over the '14 to '18 term by 85 million.


So this has a few impacts.  First, it reduces depreciation expense every year, and that can be seen at line 6 of each of the year's adjustments, which total, I think, about 85.1 million.  And it also has an impact on rate base.  So to the extent that depreciation has gone down, accumulated depreciation has gone down as well, or it's less of an offset to PP&E, but it's not fully effective in any year.


So in the first year the $14.3 million depreciation reduction is not exactly half effective, but it's in the ballpark of half effective, so if we think of approximately $7 million of the $23 million -- or $23.9 million reduction we see in line 1's rate base, a portion of that is due to the reduction in depreciation.


In subsequent years, the full impact of the 2014 reduction would be fully effective, plus the partial effectivity of the current year's depreciation reduction.


The other adjustment we were required to make with regards to site restoration costs was to increase the refund of previously collected SRC reserves by 120 million.  So, again, that has a few impacts.  The allocation of the extra 120 million, I think I laid out in, I believe, paragraph 6 of appendix A, schedule 1, the new amounts are 96.8 million in 2014, 90.4 in 2015, 83.9 in 2016, 77.5 in 2017, and 31.1 million in 2018.

MR. SHEPHERD:  How were those numbers derived?

MR. SMALL:  They were ultimately provided to us through the updates we received from Gannett Fleming, but if I had -- it's the -- if we looked at the -- I believe the depreciation that was originally filed by Gannett Fleming, their schedule showed the annual give-backs amounts.  And it had a -- I don't have –-


MR. SHEPHERD:  Their annual give-backs were as a result of discussions with you.  They weren't based on any principled reason; it was just the pattern you chose?


MR. SMALL:  Sorry, so they maintained the same annual ratio.  The differences, though, the ratios that -- the ratios that were originally provided in their schedules included the component of -- that was being given back through depreciation expense.


If you recall, we were originally trying to give back 292 million, and approximately 6 million, I believe, was through depreciation expense ever year.  If you took that 6 million plus the previous annual give-back amounts, I think as an example, I think 2014 was 25.5 percent of the total 292.


So what we have ended up -- we or, I guess -- collectively have done now is maintained that ratio with regards to the refund.


So I wish I had that schedule in front of me --


MR. SHEPHERD:  Sorry, so you maintained the same percentage each year --


MR. SMALL:  But there is a disconnect --


MR. SHEPHERD:  Just a sec.  But the same percentage of the total refund which you were doing two ways before, and now you are doing it just one way now?

MR. SMALL:  Yeah.  There is not a clear tie between the depreciation and the SRC refund any more.  I think in the past -- I am not a subject matter expert in this, so I believe the total refund was derived through the use of a specific discount rate based on a point-in-time numbers; is that a fair statement, though?

MR. SHEPHERD:  That's not really helpful.


MR. SMALL:  Okay.


MR. SHEPHERD:  You are saying you were supposed to give back 292, but the decision says you were supposed to give back 275, so already we have a difference here.  And they increased it to 395, right?  Or something like that?


MS. COLLIER:  379 is the total.


MR. SMALL:  That's just the refund component, yes.


MS. COLLIER:  Is the refund component.


MR. SHEPHERD:  So I am not sure I understand what you are saying.

MR. SMALL:  Okay.


MR. SHEPHERD:  What I would like to know is what are the calculations that got you to these numbers.  That's not in your material anywhere, right?

MR. SMALL:  The calculations?

MR. SHEPHERD:  You got a 96.8.  You didn't just say:  Let's use 96.8?  You actually did some math, right?  That math isn't in here anywhere, right?

MR. SMALL:  No.


MR. SHEPHERD:  Can we have it, please?


MR. SMALL:  Sure.


MR. SHEPHERD:  Thanks.


MR. SCHUCH:  Okay.  I have devised a new numbering system.

MR. THOMPSON:  Can I just follow up on that before we give it a number?


So initially you had, as I recall it, a certain amount of the 292, a certain amount was being credited to ratepayers through a depreciation reduction.  My recollection was about 6 million a year or something like that.


MR. SMALL:  Correct.

MR. THOMPSON:  Okay.  And then the remainder was 252 and some-odd, as I recall it.


MR. SMALL:  259.8, I believe.  Yes.


MR. THOMPSON:  Okay.  259.8.  And the Board said increase the refund from 259.8, as I recall it, by $120 million.


MR. SMALL:  Correct.


MR. THOMPSON:  Is that what the Board said?

MR. SMALL:  Correct, yes.


MR. THOMPSON:  What I understand you to be saying now is you have now removed the 6 million that you had proposed to refund through the depreciation rate reduction.


Stopping there, have I got that right?

MR. SMALL:  Well, I wish we had Gannett Fleming here to really talk to this, but no, I don't think these correct.


We further reduced depreciation rates to give to -- to collect an -- $85 million less.


MR. SHEPHERD:  No, but they told you the 85 million was incremental.


MR. SMALL:  Yes.


MR. SHEPHERD:  So if you got rid of the 6 million a year and you added the 85, then we are being short-changed by $30 million?

MR. SMALL:  Again, it might be helpful...


MR. CASS:  Yeah, I don't think Ryan was attempting to explain that anything had been removed.  I think he was attempting to explain the calculation of the proportionality, and how the 6 million was treated.  That was my understanding.  Not that anything was removed.


MR. SMALL:  Right.


MR. SHEPHERD:  What happened to the 6 million?  Where is it now?


MR. SMALL:  It's still in M1.


MS. COLLIER:  It is the starting point of M1.  That amount did not change.  So the starting point prior to making the adjustment --


MR. SHEPHERD:  Is your mic on?


MS. COLLIER:  Oh, I'm sorry.  My understanding is that the starting point prior to making the additional adjustments from the Board decision would be reflected in the M1 exhibits, which included that initial $6 million.  And now this is over and above that, is my understanding of...


MR. THOMPSON:  Okay.  So the 6 million is still in there?


MS. COLLIER:  The 6 didn't change, yeah.


MR. SMALL:  Yes.


MR. THOMPSON:  So when I look at this, I put the 379.8 over the 259.8; I got a ratio of 1.46.  And then I ask myself:  Well, did you just gross up your original amounts by 1.46?  And I went to the math and the answer was no, you didn't.  You did something else.


And -- you know, and maybe it was palm tree justice; I have no idea.  But you have come up with a slate of numbers there, which Jay says we have no idea where they came from.  They total up to 379.8 million.  We know that.


MR. SHEPHERD:  The problem is they couldn't have come from Gannett Fleming because they are not based on any depreciation principles.  They are based on Enbridge's decision earlier on -- we had this in the evidence -- to decide how much you were going to give back each year.


So it's not useful to have Gannett Fleming here, but somebody at Enbridge decided what the pattern was.


MR. CASS:  My understanding, Jay, is that Gannett Fleming determined the numbers.  But in any event, you asked for an undertaking as to how the numbers were calculated, and that can be provided.


MR. SHEPHERD:  Just before we do that -- we will get to the number, Colin.  I know you are excited about it, but...


[Laughter]


MR. SHEPHERD:  You guys knew that site restoration costs would be the single most important issue today.  Why didn't you bring somebody who knew something about it?  I don't understand that, Andrew.


MR. MANDYAM:  Well -- Andrew here, Lisa.  We did think that -- we knew that it was going to be important and we thought the continuity that we were providing through this description would give you that.


The fact is -- you are right -- the pattern was sent up with Enbridge by Gannett Fleming back in July of 2013.  What we did –- well, we didn't do it.  Gannett Fleming backwards-resolved or solved, to calculate a discount rate and a proportion of depreciation expense, as well as rates for depreciation expense, as well as actual refund amount in order to get to the decision's values.


MR. SHEPHERD:  None of which we have on the evidence, right?  So they did a report for you?

MR. MANDYAM:  They did calculations for us, yes, we can provide --


MR. SHEPHERD:  They gave you something in writing, right?


MR. MANDYAM:  Yeah, they give us some schedules --


MR. SHEPHERD:  Why wasn't that filed?  I don't understand.  It's $400 million and you didn't think it was worthwhile to file it?  Come on.  Geez.


So I think we need whatever Gannett Fleming provided to you, I think it needs to be on the evidence.  And I think if that doesn't show all the math to get to these numbers -- the 69.8, et cetera -- then we need that math too.


I don't see how the Board can decide this was done right unless it has that information.  Sorry, Peter.


MR. CASS:  Jay, I think we have twice indicated we'll give the undertaking.


MR. SHEPHERD:  Well, no, we just expanded the undertaking because now we know that there was something in writing from Gannett Fleming that explains how this was done, including, by the way, the depreciation rates.


MR. CASS:  It is one and the same thing.  That is what we said we would provide.  It came from Gannett Fleming.  It's one and the same thing.


MR. SHEPHERD:  And the depreciation rates were also redone, right?


MR. SMALL:  Which are filed as appendix -- sorry, I got it here --


MR. SHEPHERD:  And their report on how to do it is filed?  Because I didn't see it.


MR. SMALL:  No, sorry, I don't have a report, I have revised depreciation rates.


MR. SHEPHERD:  So over to you, Colin.


MR. SCHUCH:  I am very excited to announce my new numbering system, and I eagerly await your feedback.


MR. SHEPHERD:  No, you don't.


MR. SCHUCH:  This would be Undertaking TCU-RO 1.1, the RO being rate order, so please don't hold back with your applause or anything else.


No, Jay, would you -- for the record, would you like to reiterate what it is?


MR. SHEPHERD:  My understanding of what we are asking for is whatever report Gannett Fleming provided or calculations they provided on both the allocation of the site restoration cost amount and the recalculation of the depreciation rates as a result of the Board's decision, and if that report does not give the full math as to where these numbers came from, that math as well.

UNDERTAKING NO. TCU-RO 1.1:  TO PROVIDE THE REPORT GANNETT FLEMING PROVIDED OR CALCULATIONS THEY PROVIDED ON BOTH THE ALLOCATION OF THE SITE RESTORATION COST AMOUNT AND THE RECALCULATION OF THE DEPRECIATION RATES AS A RESULT OF THE BOARD'S DECISION, AND IF THAT REPORT DOES NOT GIVE THE FULL MATH AS TO WHERE THESE NUMBERS CAME FROM, THAT MATH AS WELL.

Questions by Mr. Thompson:



MR. THOMPSON:  It's Peter Thompson again.  Can I just ask another question about this?  Can someone from the company, forgetting about how the numbers were derived and so on, just explain the concept behind this allocation of the refund amount in this fashion?  Are you trying to --


MR. MANDYAM:  Peter, it's Andrew here.  The original principle in the downward pattern, first year more refund, last year less refund, was about rate impact and managing rate impact as we get out of the IR term.  And so originally I think the amounts that were being proposed to be refunded were something in the order of 25 million.  Now it's gone up to 31 million.  But it's a downward trend to prevent rate shock or mitigate as much rate impact, and that is where we decided on the pattern.
Questions by Mr. Shepherd:

MR. SHEPHERD:  So the point was to -- that when you go into your next rebasing you don't want to have a big jump.


MR. MANDYAM:  Right.  That was the original downward pattern from original filing.


MR. SHEPHERD:  On the assumption that you won't be refunding any more on your next rebasing.


MR. MANDYAM:  Well, yeah, we will find out what happens with the next Gannett Fleming study, right, Jay?


MR. SHEPHERD:  Indeed, we will.


MR. THOMPSON:  Okay, thanks.  I have a follow-up, but I will let the witness Ryan get through his explanation of the other items.
Presentation by Mr. Small:

MR. SMALL:  Okay.  Sorry, so I guess forgoing how the numbers came about, if we get back to the impact, as a result of increasing the refund amount in each of the years, it also has an impact on rate base, as well as the income-tax deductions taken as a result of increasing the refund.


So the same -- once the annual amounts of refund were derived, the monthly profile for how we are giving that back was -- they are -- the same profile that underpin the original filing was used to model the return of the refund amounts in each of the years.


So I guess, for example, getting back to 2014, the change in the refund of approximately $28 million in 2014 results in an incremental increase to rate base of approximately half of that, and that's seen in the line 1 adjustment to rate base of 23.9 million.  So going back, we have approximately 14 and change due to the increase in the refund amount, and we have approximately $7 million due to the change in depreciation in '14, and that's leading to the $23.9 million increase in rate base in 2014.


And then, again, as we go throughout the term, the prior years' amounts become fully effective and the current year's amounts have the average of average impact of that year's return profile within those --
Questions by Mr. Brett:

MR. BRETT:  Excuse me, it's Tom Brett here.  Is there something else in the 23.9 besides those two, or...


MR. SMALL:  No, not in 2014.  In other years there is a very small change to the working cash calculation due to the reduction in O&M.
Questions by Mr. Aiken:

MR. AIKEN:  It's Randy Aiken.  Can I just jump in?  Have you provided somewhere in this package basically what I would call a continuity schedule for the five years showing the rate base adjustment for each of the five years and how it's actually calculated for each year?  In other words, you have talked about -- you have got a profile for the $14 million depreciation and you have got a separate profile for the $28 million SRC impact.  Is --


MR. SMALL:  Well, I mean, I don't have -- I do have a profile for the refund.  The depreciation impact is -- was derived by applying the updated depreciation rates to the monthly depreciable balances, and the --


MR. AIKEN:  So the average monthly numbers.


MR. SMALL:  Oh, yeah.  For sure in rate base, yes.


MR. AIKEN:  What I am saying is that's a different profile than your SRC profile.


MR. SMALL:  For depreciation?  The depreciation impact is definitely different than the refund profile, because --


MR. AIKEN:  Yes, and we don't see that anyplace.


MR. SMALL:  No.


MR. AIKEN:  So what I am asking for is a continuity schedule that shows a calculation of the rate base increase in each of the five years based on the two sources that we have just talked about so that we can see that the numbers are appropriate.
Questions by Mr. Shepherd:

MR. SHEPHERD:  You must have updated your regulatory rate base continuity schedules.


MR. SMALL:  Oh, absolutely, yes.


MR. SHEPHERD:  Okay.  So you just need to provide them.


MR. SMALL:  I can provide the rate base continuity schedules, yes.  I just --


MR. SHEPHERD:  The new ones.


MR. SMALL:  Just show every month's depreciable balance, and the impact on depreciation would be --


MR. SHEPHERD:  We don't need every month, right, because --


MR. AIKEN:  I would like to see one month for one year.


MR. SHEPHERD:  One year with all the months.


MR. AIKEN:  Like, for 2014, and then the continuity schedules for the remaining years.


MR. SMALL:  Yes, I think we can -- I think we can provide -- I think we can provide that, the rate base continuity schedules.  And, sorry, an example of how depreciation was affected monthly throughout -- I will do 2014; is that all right?


MR. AIKEN:  Yes.


MR. SMALL:  Okay.


MR. SCHUCH:  I think we have an undertaking there.  That will be TCU-RO 1.2.

UNDERTAKING NO. TCU-RO 1.2:  TO PROVIDE RATE BASE CONTINUITY SCHEDULES AND AN EXAMPLE OF HOW DEPRECIATION WAS AFFECTED MONTHLY THROUGHOUT 2014.


MR. SMALL:  Sorry, I am just writing it down.


MR. SCHUCH:  I think we all are.


--- Off-mic discussion.


MR. SMALL:  Okay.  So I think we have talked about the impacts that the SRC refund and depreciation changes have had on the numbers.  So I guess I get to the next adjustment that we have made, and --
Questions by Mr. Thompson:

MR. THOMPSON:  Excuse me, Peter Thompson.


MR. SMALL:  Yes?


MR. THOMPSON:  Where do the taxes show up?


MR. SMALL:  Oh, so taxes show up in line 14 of page 1 of schedule 2 or any other years.  But that line includes also the impact of the other changes to taxable income from all the other adjustments.

But if you go to page 7, you will see the change in the deduction being reflected in line 14, and then it flows through to --


MR. SHEPHERD:  Where is this?


MR. SMALL:  Page 7.


MS. COLLIER:  Appendix A, schedule 2.


MR. SMALL:  Sorry, appendix A, schedule 2, page 7, and line 14 shows the change in how much we're taking as a tax deduct for the refund amounts.


MR. THOMPSON:  So is the 7.1 that appears on that page in line 24, column 2, the 7.1 that appears in line 14 of schedule 2 on page 1?


MR. SMALL:  Yes.


MR. THOMPSON:  So that's all related to the SRC refund increase?


MR. SMALL:  Well, not entirely.  If you look -- if we are looking at page 7 still, the top line, like, our utility income before taxes is impacted due to the fact that we updated -- for the contract volume customers there is a 0.1 margin increase.  We increased other revenues, so that's increasing the taxable income as well.


So it's having a very small impact on the change in income taxes, but it's predominantly due to the change in tax deduction.


MR. THOMPSON:  Thank you.
Questions by Mr. Shepherd:

MR. SHEPHERD:  Well, it also has an impact in years -- in the subsequent years that is a growing impact on line 1, right?


MR. SMALL:  Sorry, there is a growing impact in line 1 of?


MR. SHEPHERD:  Of the site restoration cost adjustment, because you are increasing your rate base and therefore presumably you are increasing your dollar amount of ROE each year?


MR. SMALL:  Yes, but that would flow through, I think, the taxes on the deficiency or sufficiency, as opposed -- I don't think there would be any direct impact on utility income before we -- because we are not -- the utility income doesn't reflect any sufficiency or deficiency that we may be looking to collect.
Questions by Mr. Aiken:

MR. AIKEN:  Then can you explain what makes up the 16.6 million?


MR. SMALL:  Sure.


MR. AIKEN:  You have talked about the 0.1 for the margin from the customers, and there is 2.2 million on the revenue.


MR. SMALL:  Right.


MR. AIKEN:  That leaves more than 13 million?


MR. SMALL:  It's the reduction in depreciation expense, but that gets added back or -- it gets removed for tax purposes, because CCA hasn't changed.  So within the 16.6 is the depreciation, but then we back it out.


MR. AIKEN:  Okay.


MR. SMALL:  Okay.  Sorry, I guess the next adjustment that we have made, and it doesn't impact 2014, but as identified in appendix --
Questions by Mr. Shepherd:

MR. SHEPHERD:  Sorry, before you go to -- I just want to clarify one thing before you leave SRCs.  I just looked at the total of the previous amounts that you were giving back, which is 259.8.


MR. SMALL:  Yes.


MR. SHEPHERD:  And the current amounts you are proposing to give back, and I don't get a difference of 120.  Now, maybe I am just calculating this wrong.


MR. SMALL:  It should come to 120.  The new total amount should be 379, if we were to take the far-right column.  I need a calculator.


MR. SHEPHERD:  Never mind.  My mistake, sorry.  A calculation error on my part.


MR. SMALL:  Okay.


MR. SHEPHERD:  Okay.  Do go on.


MR. SMALL:  Okay.  So the next adjustment that we have made is -- as identified in appendix H -- we have had some incremental long-term debt forecast to be issued, and that was to maintain similar component structures to what we had in impact statement 1, and to ensure the company has sufficient liquidity to meet its operational demands.


You will see that we are forecasting an incremental 50 million in 2015, an incremental 20 million in 2016, and an incremental 50 million in 2017.  So those -- with the effective dates that you will see in the schedule or appendix H.  So those impacts have been reflected in the capital structures, and I guess required -- and required return in schedules 2 through 6 of appendix A.


Okay...


MR. SHEPHERD:  No, no.  Hang on.  Slow down.


MR. SMALL:  Sorry.

MR. SHEPHERD:  So the first line here is the incremental amounts?


MR. SMALL:  The first line -- or the first section is a summary of all the planned debt issuances that now reside in the results, and the bottom table was a summary of all the new forecast debt issuances that were within impact statement 1.


MR. SHEPHERD:  Sorry the first section says:  "decision updated forecast new debt issuances."  Oh, and then the bottom one is "as filed."


MR. SMALL:  Yes.


MR. SHEPHERD:  So now you have got -- so you still have four in 2014?


MR. SMALL:  Yes, nothing's changed.


MR. SHEPHERD:  Nothing's changed.  And then in 2015 you have increased the second one and the fourth one by 25 million each?


MR. SMALL:  Correct.


MR. SHEPHERD:  And you haven't changed any interest rates on any of these, right?


MR. SMALL:  No.  We are proposing that all the interest rates on the 2015 through '18 ones will be revisited in each of those proceedings.


MR. SHEPHERD:  All right.  And then you have added two more in 2017 and 2018?


MR. SMALL:  No, we have added a 20 million issuance in 2016, and then the 2017 issuance --


MR. SHEPHERD:  Yeah.  Okay.


MR. SMALL:  Yeah, sorry, has been now split into two issuances.  Like, an incremental 50 million has been added to the original 250, but it's been split into two issuances.


MR. SHEPHERD:  And the additional 150 is at 6.4 percent, and is 30 years instead of 10?


MR. SMALL:  The new -- yeah, I wouldn't call it an incremental 150, but a portion of the original has now been shifted into that bucket and -- yes, with the rates.


MR. SHEPHERD:  So I don't understand.  You said before you could borrow 250 in 2017 at 5.8 percent over 10 years.  Now you are saying:  No, we only need 150 for 10 years and we are going to move 100 over to 30 years and add 50 to that.


So what is the rationale for that?  If it was good to make it 10-year debt in your application, why is it not good any more in your rate order?


MR. SMALL:  I will need to, I guess, get a response from treasury, a formal response to clearly articulate that.


MR. SHEPHERD:  I think it would be useful to understand what the rationales are for the changes.  I mean, there is no explanation in your DRO of the changes you made and why you have made them.  So if you can tell us what -- just give us -- make a list of the changes.


MR. SMALL:  Okay.


MR. SHEPHERD:  And why each one is there.


MR. SCHUCH:  Yes, this undertaking is TCU-RO 1.3.
UNDERTAKING NO. TCU-RO 1.3:  TO PROVIDE A LIST OF CHANGES IN DEBT ISSUANCES AND AN EXPLANATION FOR EACH.


MR. THOMPSON:  Just so -- excuse me, it's Peter Thompson -- I am clear on this, the bottom line is the as-filed, 250, and then you are splitting that into two issuances of 150 each for 2017, so that's the incremental 50 right there?


MR. SMALL:  Correct.


MR. THOMPSON:  Okay.


MR. SHEPHERD:  Well, plus 100 is moving from ten years to 30 years, Peter.


MR. THOMPSON:  No, I understood that point.  But I was reading these things in reverse, so...


MR. BRETT:  Excuse me, Tom Brett here.  These interest rates that are listed, these forecast, they are placeholders essentially at this stage, right?  You will be effectively setting new rates in the year in question when you get to forecasting that particular year?


MR. SMALL:  For '15 to '18, yes.


MR. SHEPHERD:  Can I ask a question about that?  What you are proposing, as I understand it, is that for '15 rates, so presumably this fall, right?  You are going to do a forecast of your debt issuances for 2015?


MR. SMALL:  We are proposing to provide an updated forecast of the cost rates.  I think because we are setting rate base now, we are proposing to fix the level of debt issuances now and just update cost rates, part of the rationale being that to the extent differences happen in actuals in terms of magnitude, timing, and volume that's being driven by the operations or the business requirements, to the extent that if we were to try and work that in, we'd probably get into a significant amount of discussion about, how does that impact future years.


So to the extent that we have to issue more in, I don't know, pick any year, 2014, what does that do to the planned 2015 issuances?  What's driving that change and whatnot?


So our proposal was to fix the level of debt issuances now and revisit the rates for the new issuances in the year in which --


MR. SHEPHERD:  So if in 2014, let's say, instead of issuing -- what have you got here?  You have got --


MR. SMALL:  430, I believe.


MR. SHEPHERD:  430.  So instead of issuing 430 at an average rate of around 4.3, you issue 500 at an average rate of 4.3, but you are going to ignore that additional 70 for the purposes of 2015.  So in 2015 you are still going to pretend you are going to issue that 70 at the current rates in 2015, even though you have already issued it.


MR. SMALL:  Yes, that would be our proposal.


MR. SHEPHERD:  Okay.  And then -- and that's going to continue throughout?  So if you ended up saving 50 basis points on that 70 million in 2014, you going to save that all the way through, and we are going to pretend all the way through that you actually issued it in 2015 at a higher rate, regardless of whether you did or not.


MR. SMALL:  Yes, good or bad, that was our proposal.
Questions by Mr. Brett:

MR. BRETT:  Excuse me.  Tom Brett again.  I may be missing something here, but what if you have new capital expenditures that arise?  You know, in other words, real additional needs for capital.  Is that -- I guess you have actually -- is that nailed down in the decision, or you might be increasing the amount of capital you require if you have new needs arise, or can that happen?


MR. SMALL:  I believe our capital is fixed, with the exception of whether we ever would pierce the relocation and replacement mains variance accounts in 2017 and '18.  Outside of that from a rate-setting perspective I think our capital is fixed.


MR. AIKEN:  Randy Aiken.  Can I just follow up on your proposal to fix the amount now and deal with the rate in the annual adjustments?  If I look at columns 11 and 12, your current proposal -- or your draft rate order proposal anyways for 2017, the 150 million for ten years and 30 years, are we fixing that it's going to be 150 at ten and 150 at 30 years, or are we just fixing the 300 million rates and terms to be determined?


MR. SMALL:  My interpretation is we are proposing to fix this, this breakdown.


MR. SHEPHERD:  No, you not fixing the rates, so --


MR. SMALL:  No, not the rates, but the breakdown in the 150 million for ten and the 150 million for 30.


MR. SHEPHERD:  So you are proposing to fix the terms as well, the maturities.


MR. SMALL:  Yes.


MR. SHEPHERD:  So if you come to set 2017 rates and it's clear that you don't really need 150 for 30, the way things have worked out you actually can take the whole 300 at ten, and it's cheaper, you are still going to forecast it, assuming that it's 30?


MR. SMALL:  That was our proposal.


MR. AIKEN:  Can I follow up on columns 9 and 10 then for 2016.  You have got the original 162 million, and then you have got the incremental 20 million.  Both are for ten-year terms, but the 20 million is at 5.8 percent, versus the 4.6.  Why is the rate higher if it's the same term?


MR. SMALL:  If you look, the $162 million is -- that dollar amount has a hedge, an existing hedge behind it, and there is no more hedging capacity at this point.  So they have had to assume the additional 20 million will be unhedged, and that would be the rate that goes along with it.  But again, to the extent that rates change going forward, that will be updated.


MR. THOMPSON:  So what line is subject to true-up?  Is it simply coupon rate or is it everything coupon rate down?


MR. SMALL:  I guess I was presuming coupon rate.


MR. SHEPHERD:  So whether -- so if you can hedge, as it turns out, and get a lower rate, tough luck for us, you get to keep it?


MR. SMALL:  No, that's not my interpretation.


MR. SHEPHERD:  That would --


MR. SMALL:  That would be reflected in the coupon rate.


MR. SHEPHERD:  So for example, if your issuance costs are higher because you use a specialized approach, or hedging, obviously, is more expensive, that's something that is variable.  You will forecast it each year.  Whether you hedge, it is forecast each year?


MR. SMALL:  Sorry, the rate that would go along with it?


MR. SHEPHERD:  The rate, whether you hedge, what the issuance costs, all those things will be forecast each year; right?


MR. SMALL:  I didn't think we were going to revisit the issuance cost, but we didn't specifically discuss that question.  My interpretation was --


MR. SHEPHERD:  It seems to me that if what you are proposing is that the rate is the variable, then everything from coupon rate down has to be forecast each year, because --


MR. SMALL:  Okay.


MR. SHEPHERD:  -- it's the all-in effective rate, which is what you want to charge the ratepayers, so that's the number that has to be variable.


MR. SMALL:  Sure.  That's fair.


MR. SHEPHERD:  Isn't that right?


MR. SMALL:  Sure.


MR. AIKEN:  I just want to go back to Peter's question, because I thought he said it was a -- if the true-up was from the coupon rate on down, but there is no true-up; right?  It's just the forecast will be updated each year.


MR. SMALL:  Correct.


MR. AIKEN:  There is no true-up.


MR. SMALL:  No, there is no true-up.  I don't remember hearing that comment.  Variances, good or bad, would flow through to our earnings sharing calculation, if any.


MR. SHEPHERD:  So we get half of them instead of all of them.


MR. SMALL:  Good or bad, I guess.  To the extent there is earnings sharing.


MR. SHEPHERD:  Well, no, there will be earnings sharing, trust me -- is not going to let you earn at the rates on -- that the Board has allowed.  I am just -- I am a little confused here with this, and I am trying to understand the rationale for this.  None of this was in your original proposal, as far as I can understand.  Certainly it was never discussed in the hearing, as far as I know.  And I don't understand why, once you know what your embedded debt is when you do a forecast, that embedded debt doesn't form the basis going forward.  I don't understand.


MR. SMALL:  Okay.  I think --


MR. SHEPHERD:  It still has to total your allowed rate base.  I get that.  You can't have extra debt and sort of say, Okay.  We need some extra money.  That's not how it works.  But I would have thought that if your rate base is 5 billion and your debt component is costing you X, it's costing you X, and the fact that you had a forecast that said it was going to cost you some different number would be irrelevant; wouldn't it?


MR. SMALL:  All right.  Well, I will try and explain the rationale for our decision, and maybe Andrew can help me if I don't articulate this well.


I think our first rationale was, for setting the level of debt issuances now, is because we are setting rate base now.  So to the extent we are trying to fix our or set our component ratios to a reasonable level, we can do that now through the forecast of long-term debt issuances.  To the extent a difference happens in actuals, which could be because we are spending a lot more capital --


MR. SHEPHERD:  Or less?


MR. SMALL:  Or less, possibly.  Sure.


And the impact that that has on when we need to issue debt and the magnitude of when we issue debt, if we were to update that from a rate-setting perspective, we are trueing up for actuals and we didn't actually think that was appropriate for the IR framework.


And then, B, in doing so we would open potentially a lot of discussion in our annual rate-setting perspective as to how to get back in the future years in terms of where to -- we issued an extra 50 million in 2014.  What does that do to our 2015 issuance and what does it do to the timing and where does it come out?


So that was our rationale for our thinking, that it would add a lot of additional discussion or things that would need to be negotiated each year.  And part of which is based on actual results, which -- we can't true up anything else for actual results.


MR. SHEPHERD:  The difficulty, though, is this creates a situation in which your forecast interest rates are now in play, and they are in play not only every year but they are in play now, too.  And that's not the case, or less the case, I suppose, if each time you forecast a new year you're looking and saying:  Our blended rate to date is X.  Or actual blended rate is -- so that's where we start, but you're saying:  No, if your blended rate is more or less, none of our business.  And that means that you get rewarded if you are over-forecasting.


MR. SMALL:  Or penalized if we are under-forecasting.


MR. SHEPHERD:  We are not worried that there is a risk that you will under-forecast.  I may be cynical, but that's just me.  So I'm --


MR. SMALL:  I understand your point.  I have tried to articulate what our rationale was.  I don't know that I can say anything else.


MR. BRETT:  Excuse me.  I just have one other question on this.


The hedges, according to this table, that you have sort of got some that are hedged and some that aren't.  Are those US dollar hedges?  Or are those just fixed for floating -- no, not fixed for floating.  Are those to do with US issuances?  Is that why they are hedged?


In other words, are they currency-hedged?


MR. SMALL:  I would need to --


MR. SHEPHERD:  I think those are interest rate-hedged.  I think these are swaps.


MR. BRETT:  These are swaps?  Okay.


MR. SHEPHERD:  I think they have a limit to how much they can swap each year, right?  Is that right?


MR. SMALL:  I have to double-check.  I know there is a certain level that we have out there, when they can go about or how and when they go about getting more or have that opportunity.  I can't talk to that, I am sorry.


MR. BRETT:  I may be, then, just retracing what you said, but if you do have a swap or -- these would be swaps you have in place now?


MR. SMALL:  Yes.


MR. BRETT:  So that would become, then, the governing rate, would it?  That is, the actual -- or wait a minute, now.  So the swap –- so whether you get money out of the swap or pay out money out of the swap will depend on the relationship of the rate to what the swap rate is at that time?

MR. SMALL:  That makes sense to me, yes.


MR. BRETT:  Yeah.  Okay.  And any money you get or pay out is your -- as per your account; is that where we are at?

MR. SMALL:  I think it would all be developed into the effective rate, so I think --


MR. BRETT:  It would lower or increase the effective rate, which is the rate ratepayers would pay; is that what you are saying?


MR. SMALL:  Yes.

MR. BRETT:  Okay.
Questions by Ms. Sebalj:


MS. SEBALJ:  Can I just follow up on something on what Jay was talking about?

If we turn to page 55 of the decision, the very last paragraph indicates to me, at least, that there was an indication that there would be a discussion on -- every year with respect to cost of debt.


So I think it's different from what you are suggesting, Ryan.  It says, just for those of you who didn't bring it along:

"The Board accepts that setting the cost of debt may be somewhat more contentious then setting the return on equity..."


So this was all in the context of ROE discussion.
"... since it will not be formulaic; however, there is evidence in this proceeding which provides an indication of the expected timing for future debt issues and, as a result, the issue may be amenable to negotiation among the parties."


I don't think that they mean now.  I mean, it's up for discussion, because my interpretation is not the interpretation, but I assumed that that meant that there would be a discussion every year with respect to the cost of debt.


MR. SHEPHERD:  Doesn't your interpretation carry more weight now that you're a registrar?


MS. SEBALJ:  Absolutely, because I issue PO 1, my interpretation of the decision should be --


MR. SHEPHERD:  Sorry, we are actually on the record here, aren't we?


MS. SEBALJ:  Yes, we are.


[Laughter]


MR. SHEPHERD:  Okay.  Strike that.


MS. SEBALJ:  Yes, strike that, please.


[Laughter]


MS. SEBALJ:  No, anyway I am just bringing it to your attention, because I am not sure that that's consistent with what we are suggesting here, which I think the discussion is that it can be set now looking outward for five years.


MR. SMALL:  Again, sorry, we were proposing to have the discussion every year with regards to costs, or cost rates, not magnitude.  And again, that was largely due to the fact that you start bringing in what's happened in actuals into play, and we weren't sure that that was appropriate from an IR perspective to start trying to account for what's happened for actuals and then how that's going to impact on future operations.


So that was the rationale for our decision.  We certainly have read that part of the decision.

MR. BRETT:  But there is no issue as to discussion of rates, right?  We are going to discuss, negotiate rates each year?


MR. SMALL:  Yes.  Yes.
Questions by Mr. Thompson:

MR. THOMPSON:  You are asking the Board, am I correct, you are asking the Board in this DRO process to make a finding that the forecast magnitude and timing of new debt issues be cast in stone now, and you are saying that's the way you have interpreted the decision?


That is the way I read your paragraph 9 in appendix A.  Have I understood that correctly?

MR. SMALL:  That's correct.  That is our interpretation and proposal.

MR. THOMPSON:  And what is the problem with just leaving it open?  How are you prejudiced by having forecast magnitude and timing to be an item to be discussed on the annual reviews?  How does that prejudice you people?

MR. SMALL:  I wouldn't necessarily say it prejudices us, but I have tried to explain what we see as the problems with trying to do that, in terms of trying to incorporate what's happened in the actuals and reflect that into a future forecast that isn't tied to actuals in any way.


MR. THOMPSON:  Well, we can reflect on that when --when that arises.  It seems to me you might well have in your forecast exactly what you have presented here, but Jay raises a good point.  You want to look in the amounts and the type of the maturity, and you could perhaps issue all this long debt on a shorter term and make a killing.


And that's got nothing to do with, you know, efficiencies of operations; that's just because you had it blocked in at the outset.  I think what ratepayers are interested in is at least having an opportunity to discuss that on an ongoing basis.
Questions by Mr. Shepherd:

MR. SHEPHERD:  If I understand what you are saying correctly, you are saying because rate base is locked in, effectively the amount of your debt, the balance, the total balance of your long-term debt each year is also locked in, necessarily, because you have a fixed ratio, right?  It's almost like the electrics have a deemed ratio, right?  And so your ratio is, in effect, deemed for this five years.


So whatever your actual amount of debt is, there is an amount of debt that's baked into rates that cannot change.  Is that step one in the analysis?  Is that right?


You need to use your mic, Andrew.


MR. MANDYAM:  That's right.

MR. SHEPHERD:  So I understand, that and I don't actually have a problem with that.  I think that's correct.


But the next step to that is then to say that the terms under which you have that amount are also fixed, and they are not.  And the Board hasn't said they are not, and there is no necessity to do that.


You can, if you have different maturities or if you have -- the interest rates are different than you forecast, or if you are able to hedge some that you didn't think you were going to be able to hedge, et cetera, all those things, or if you just borrowed more because you saw an opportunity in the market to borrow at a cheaper price, you should get the benefit of all that for one year, but whatever your weighted average cost of debt is going into the next year should be applied, in my view, to your deemed amount of debt as your starting point of your forecast.


So let's say you have $3.7 billion of debt at the end of 2016 -- I don't know whether the number is right, but let's say 3.7 billion -- but the rate base actually only justifies 3.4.  You borrowed some extra because you saw market opportunity and you saw rates spiking the next year.  That's fine, and I think you should get the benefit of that in the year you do it.  But I don't think you should get the benefit of that forever.


The next year you're starting with a lower average interest rate than you would have otherwise had.  We should get the benefit of that average interest rate, and we should only pay the incremental higher costs on the incremental debt that you have to add, it seems to me, and I think you should consider that as an alternative to what you are proposing, because I think it's more consistent with what the Board has said in the decision.


You are still protected, it just means that you can't get the benefit of a smart treasury decision for more than one year.


MR. BRETT:  Another way to look at that is -- which complements Jay's point, I think, is that the term -- typically the term and the rate are interrelated, so if the Board is talking about, you know, being able to discuss the rate each year, and I think it follows that you have got to be able to discuss the term each year as well, which I think you have agreed to, that the term would be something that would be set annually.


MR. SHEPHERD:  No, no.


MR. BRETT:  No?  Well, I think it should, because the term and the rate are really -- you know, absent you doubling the size of your company or something or doubling the size of your issue, the term and the rate are, I think you'd agree, closely related.  You're going to pay more for 30-year debt than you are for ten-year debt, regardless of how else -- whatever else you slice.


MR. CASS:  Okay.  Well, I think we are here essentially for questions and answers.  We have heard what you have said.  I don't think that Ryan can go further.  He has done his best to explain the rationale for the proposal.


MR. SHEPHERD:  That's fair.


MR. CASS:  Could we perhaps do it this way:  What if we take what Jay has just said and what others have said and we take that as an undertaking, to provide our position on that?  We can then consult with treasury and deal with essentially as a question to provide the position in response to what you have proposed.  Is that a good way to go forward?


MR. SHEPHERD:  Good idea.


MR. CASS:  Okay.


MR. SCHUCH:  We will assign that Undertaking TCU-RO 1.4.
UNDERTAKING NO. TCU-RO 1.4:  to provide EGD's RESPONSE TO PROPOSAL FROM SEC TO USE ACTUAL WEIGHTED AVERAGE COST OF DEBT IN EACH YEAR TO FORECAST COST OF DEBT IN THE NEXT YEAR.

MR. SMALL:  I think as we discuss that too we'll have to discuss how we could actually implement that, because I think taking an average rate -- anyway, sorry.  So I think, as I go through all the updates, I think there was one final update, and that was to update the 2014 ROE per the Board formula for 2014.


So you can see that in -- sorry, I've lost my page -- I believe page 8 of appendix A, schedule 2, and then it would also flow through into, you know, the change for the required return that's reflected on page 1.


And I guess the sum of all the changes has resulted in an increase to the net deficiency of -- sufficiency, sorry, in 2014 of 21.2 million, which gets grossed up, and that's at line 18 of page 1 of schedule 2, which gets grossed up, creating a new gross sufficiency change of ultimately 28.9 million, which is reflected on line 28 of page 1.


I don't think I have anything else left to say.  So I can turn it over to Jackie to talk about, I guess, the rate impacts.


MR. SCHUCH:  Just a time check.  Would this be a good time for a morning break?


MR. SHEPHERD:  Great idea.


MR. SCHUCH:  How do people feel?  Do you want to take 15?


MR. CASS:  Sure.


MR. SCHUCH:  We will come back at 11:00.


--- Recess taken at 10:42 a.m.

--- On resuming at 11:04 a.m.


MR. SCHUCH:  Hello, everyone.  I think we are all back and ready to resume after the break.  The break is over.  We are resuming.
Presentation by Ms. Collier:

MS. COLLIER:  Okay.  I think I will just walk through an explanation of how we carried on the adjustments that Ryan just spoke to, as it relates firstly to 2014 and the rates that we are setting for that, as well as to the carry-through to rates for 2015 through 2018.


The adjustments that Ryan spoke to were flowed through the company's fully allocated cost study using its existing methodology.  There was no changes, except for the fact -- where the Board directed us to change how we allocate the extra high-pressure main to Rate 125 customers.  Those mains of 4-inch or less are no longer allocated to them, so we did make that adjustment through the fully allocated cost study.


But aside from that, the existing methodology was maintained, and it was just updated to reflect the changes in the allowed revenue that Ryan has spoken to.


Similar to that, the changes coming out of fully allocated cost study was flowed through our rate design methodology.  Again, there was no change to that.  Coming out of the Board decision, we maintained what the company had proposed and reset rates to reflect that.


And the 2014 rates now reflect a sufficiency of $62.1 million that we'll be adjusting rates for effective January 1st.
Questions by Mr. Schuch:

MR. SCHUCH:  Jackie, can I just interrupt you for a second?


MS. COLLIER:  Sure.


MR. SCHUCH:  Is there a particular document you are looking at?


MS. COLLIER:  Not at the moment, but -- so appendix B lays out the 2014 rate schedules that we are asking the Board to approve, and immediately behind those rate schedules are supporting documentation.


So there is a couple-page write-up that explains the rate design changes, sort of impact revenue at existing rates, revenue at proposed rates, rate impacts stemming from the 2014 decision.


And then there is a section that talks about changes to -- and those would all fall under the H exhibits, which are also filed as supporting documentation.


And then immediately after that, there is a description of the changes that were made to the cost allocation study, sort of where the cost adjustments were made within the study, as well as the explanation I just provided with regards to the change to Rate 125.


And the fully allocated cost study is filed under the G exhibits also, in that supporting documentation.


So it was really that that I was speaking to, Colin, just sort of the standard cost allocation and rate design resulting from the Board's decision for 2014.


MR. SCHUCH:  So you are speaking to the working papers that are attached to appendix B?


MS. COLLIER:  Correct.


MR. SCHUCH:  Thank you.
Continued Presentation by Ms. Collier:

MS. COLLIER:  And that's really all I had to say with regards to the cost allocation and rate design as it relates to 2014.


Immediately after appendix B is appendix C, which is our rider E, revenue adjustment rider.  This rider is necessary to reflect the fact that our rates are effective on January 1st, 2014.  However, they are not being implemented into our billing system until October 31st of 2014, so we need to adjust for what the company would have collected in rates versus what they actually collected -- not actually, pardon me, forecast to collecting rates under existing rates.


And that true-up amount then, of -- that difference in revenue at existing rates versus revenue at, now, decision rates is trued up, and in this case because it's a sufficiency it will be refunded to customers based on -- for the month of October is our proposal.  So it will be clear to customers on their October bill.


And the rider itself was based on forecast volumes, as was the determination of the unit rate based on October was also based on October forecast of volumes.


MR. SCHUCH:  And Jackie, just for the record, you are talking -- you are speaking to the working papers supporting the derivation of rider E?


MS. COLLIER:  That's correct.


MR. SCHUCH:  And there is an amount on paragraph 3 for rider E -- in paragraph 3 shown as 43.9 million?


MS. COLLIER:  Correct.


MR. SCHUCH:  That will be, I believe -- if you can confirm this -- collected -- sorry, refunded to customers in the month of October?


MS. COLLIER:  That's right.


MR. SCHUCH:  Thank you.
Questions by Mr. Quinn:

MR. QUINN:  Colin, this is Dwayne here.  Can you hear me?


MR. SCHUCH:  Yes, I can, Dwayne.


MR. QUINN:  Jackie, you started off by saying -- and you corrected yourself in that sentence -- what was actually collected, and then you said what was forecasted to be collected.


MS. COLLIER:  That's right.


MR. QUINN:  This shouldn't be any surprise to you, since I advanced the question to Andrew, but are you going to provide and can we request for you to provide a schedule based upon what was actually collected and what the difference would be?


MS. COLLIER:  Yeah, I have a few concerns with looking at it from that --


MR. QUINN:  Jackie, before you have that, can we just -- can we get you to provide that as -- accept it as an undertaking, and then we can discuss the principles behind it?


MS. COLLIER:  Yes.  My concern a little bit about providing it, I just need to see that I received the actual volumes sort of -- you can appreciate that that rider is very detailed, the way it's laid out.  It looks at commodity, transportation, load-balancing, distribution rates by month, by customer rate class, by type of service.


So I just need to get that actual information from the billing system or through the volumetric and forecasting department in that same manner in order to generate sort of the impact that you are looking for, because those volumes need to run through a blocking structure and things like that.


So it's not quite as straightforward as maybe some may think, that you just take an actual volume times a rate.  It's a bit more detailed than that.


And the reason I couldn't have anything available for today was because of that; it's just getting the information in the way our models can easily calculate what it is you are looking for.  So that's my only caveat at this point with regards to that.


So that's where I am on that, Dwayne.


MR. QUINN:  I appreciate the clarification of that.  And I'll say it this way.  We all have waited a long time to implement these rates.  I think on behalf of FRPO I would say we would rather get it right than get it done quickly.  So we would be asking for that.


Beyond your concerns about the logistics around doing the comparison, what -- can you speak to why you believe that it is appropriate to go on a forecasted basis for rate impact, as opposed to what was actually collected from customers in the first half of 2014?


MS. COLLIER:  Sure.  So first, just from a principle point of view, rates are designed on a forecast basis to reflect 12 months of forecast volumes, so in this case 2014.


So the revenue, allowed revenue and resulting revenue sufficiency that Ryan spoke to, again, is based on a forecasted volume that was set at a point in time.  Costs that were set at a point in time were applied to that allowed revenue.  Revenue at existing rates were calculated at a point in time, and the fallout was a revenue sufficiency of $62.1 million, effective for rates January 1st.


So our principle in designing rates is never to design rates on actuals; it's always based on forecast information at a point in time.


Rider E takes it to the -- is necessary because of a delay in implementing those effective rates.  So the fact that we will not be implementing them until October 1st is -- does not change the way in which the rates should be designed, the rates should be refunded or collected or anything else, in my mind.  It still should all be based on Board-approved, test year forecast of volumes and costs.


And in this instance, you know, we are looking at one element to update for, because volumes, for the most part, I don't think it's a secret that everyone knows it was a colder winter, and that we are giving back money as opposed to collecting money.


So it's almost like you are cherry-picking one element that in hindsight you know.  You know, volumes are greater than forecast and it's a refund to customers.  If it was a situation where it was reversed, if now we were looking to put in a $62 million deficiency and we had a warmer than normal winter, I don't think you would be asking me to do this analysis.


So I don't we can just sort of change our methodology because in hindsight we know we had colder water.  The same hold true for the fact that October --


MR. QUINN:  I don't think you can keep --


MS. COLLIER:  Sorry.  I just wanted to finish my thought, that for October we are, again, looking to forecast these refund dollars over a forecast of volumes. To the extent that October weather or October volumes are higher than forecast, we'll be giving back more than we thought we would.  Conversely, if it's warmer, we'll be, you know, giving back less.


So it's all part of the volumetric forecasting, the volumetric risk, and I don't think it needs to be changed just because in hindsight we know, sort of, the events that occurred in the past year.


So that's my position on that.


MR. QUINN:  Okay, Jackie, that's your position.


MS. COLLIER:  Yes.


MR. QUINN:  I ask that you let me finish speaking, because it's hard to get in sometimes remotely.


MS. COLLIER:  Okay.  And I talk a lot.


MR. QUINN:  I stopped you at the point where you started telling me what I would have done in different circumstances, so I am going to ask you to do it in these circumstances.  I would like you to provide those forecasted revenue differences.  To the extent that Enbridge believes that it is cherry-picking, you can provide what your updated costs are for the first six months, and we can do a net margin on the basis of revenue over high-level operating costs.  If you want to argue that if the revenues are higher you had increased operating costs and those should be offset, that's something you can argue.


So Colin, I am in your hands as to how to prepare the undertaking, but we are asking for what actually occurred in terms of the revenues that were collected versus -- as opposed to using the forecasted volumes.  Enbridge can add to that if they want any impact of increased costs that can be substantiated in evidence to demonstrate that they did have increased costs, and I say that's only fair if there is increased costs.


But Jackie, I would not want to continue the debate in this forum.  I would prefer that you provide the data and, to the extent we need to have argument after, then possibly the Board can provide opportunity for an additional argument by all parties on this issue.


MR. CASS:  Well, Dwayne, you asked that Jackie respond to the undertaking before she gave her explanation, and she did, she responded, she said, yes, she will give the information that you have requested.  It will take some time.  That response has been given.

Questions by Mr. Shepherd:


MR. SHEPHERD:  Can I just ask for a clarification on this?  In your DRO package, under the documentation for rider E you have a monthly volumes chart.


MS. COLLIER:  Yes.


MR. SHEPHERD:  It says here schedule 1, page 3, but I don't know what it is schedule 1 of, but presumably schedule 1 of the rider E package.


MS. COLLIER:  Correct.


MR. SHEPHERD:  So what I would like to see, what would be helpful for me, is if you could simply provide this document, exactly this document, but with actuals and revised forecasts if you have them, but at least actuals for whatever months you have actuals of.  Presumably this is something you have available, it's not something you have to make up; right?


MS. COLLIER:  Mm-hmm.


MR. SHEPHERD:  This is something you keep track of.


MS. COLLIER:  Yes.


MR. SHEPHERD:  So if you gave us that -- and Dwayne, would that exactly give you what you want?


MR. QUINN:  I haven't caught up to the page numbers, Jay, but I trust you understand what I am talking about from --


MR. SHEPHERD:  This is the monthly volumes table.


MR. QUINN:  Yeah, I am going to trust that that's the case, Jay, and I can find that as an acceptable --


MR. SHEPHERD:  Okay.  And so, Jackie, what you have filed is your forecast monthly volumes; right?


MS. COLLIER:  Correct.


MR. SHEPHERD:  And that includes forecasts for January through, I guess July now, that are actually actuals.  And so we can then take a look at what the actuals are and we can see what the deltas are in each -- month by month, and if you have a new forecast of August through December, which you might have, right?


MS. COLLIER:  Mm-hmm.


MR. SHEPHERD:  Then if you put the new forecast numbers in, that would help us too.  If that's possible that would certainly be very useful.


MS. COLLIER:  Providing that is a lot easier than providing the detailed revenue calculations that -- so certainly that is something that would be fairly quick to provide, the volumes in this format.


MR. SHEPHERD:  Excellent.


MS. COLLIER:  It's the details of applying the rates behind it that take the time, so, yes, I can certainly provide that.


MR. SCHUCH:  I think this is really captured under the one undertaking that was started by FRPO and concluded by SEC.


MR. SHEPHERD:  Yes, yes.


MR. SCHUCH:  Let's give it the appropriate number.  TCU-RO 1.5.

UNDERTAKING NO. TCU-RO 1.5:  TO LOOK AT WHAT THE ACTUALS ARE MONTH BY MONTH, AND IF THERE IS A NEW FORECAST OF AUGUST THROUGH DECEMBER, TO PUT THE NEW FORECAST NUMBERS IN AS WELL.

Questions by Mr. Schuch:


MR. SCHUCH:  So I had a question, Jackie, about the rider E, and in your supporting documentation you say there a refund of 43.9 million coming in October.


MS. COLLIER:  That's right.


MR. SCHUCH:  But let me ask you something.  Say October is a very unusually warm month and just residential customers are not turning their furnaces on.  Come November could a customer come back to Enbridge and say, Hey, wait a minute, where is my portion of the 43.9 million?  And what would you say?  I never got the 43.9 because I never turned my furnace on.

MS. COLLIER:  Well, I mean, I don't think we could say anything in particular -- I mean, the rider is to capture forecast volume again.  To the extent that customers move location, to the extent they consume more than we thought, to the extent they consume less than we thought is all a difference from forecast again.


So there is lots of different permutations and parameters that may affect this.  We may have more customers on the system than we had originally forecast, so those customers would get it.  That's not embedded in that October volumetric forecast.


So that's my concern.  If you start to look at various individual parts, there is all kinds of things that may change over the course of the year, and if you step back and look at it in principle, you are trying to design rates on a forecast basis, and in this instance we need to true-up for a timing, if you will, issuance that happened between the effective date of the rate and the date of implementation, and the fact that a customer maybe didn't turn on his furnace would be that he would not receive the refund in the month of October.


MR. SCHUCH:  Would that customer ever get their portion of the refund?


MS. COLLIER:  If they consumed zero volumes then, no, they would not.
Questions by Mr. Shepherd:

MR. SHEPHERD:  Can you just remind me, where is the 43.9 number?


MS. COLLIER:  It's in the written evidence.  I just stated it's 43.  And if you turn to Exhibit -- so 43 represents the change in revenue between January and September, so if you look at -- under rider E, schedule 1, page 4 --


MR. SHEPHERD:  Page 4?


MS. COLLIER:  Yes.


MR. SHEPHERD:  Okay.  I was looking at page 4.  I didn't see the 43.9.


MR. SCHUCH:  Maybe I can just jump in and talk about --


MS. COLLIER:  At the very bottom, if you look at September, cumulative, on line 3, the very last line, you see 43.8 million -- .9 million, yeah.


MR. SHEPHERD:  Oh, I see, I see, I see, okay.  So that's -- all right.

Questions by Mr. Thompson:


MR. THOMPSON:  Where is it, on page -- is it page 4 or page 3?


MS. COLLIER:  Page 4 of 8.


MR. THOMPSON:  All right.


MS. COLLIER:  Of schedule 1.  So it's column 9, so for the month of September, and then at the bottom we have a cumulative total that adds up the month-over-month change in revenue at existing rates versus revenue at decision rates, and you see 43.9 million.


MR. THOMPSON:  I am looking at a number at the bottom that's number 3, cumulative, and the numbers are all in brackets?


MS. COLLIER:  Correct.


MR. SHEPHERD:  That's right.  So you go to September.  It's forty-three-eight-eighty-nine.


MR. THOMPSON:  Okay, got you.


MR. SHEPHERD:  So this says then that you're -- that what you have to refund is 57.64 million.


MS. COLLIER:  Correct.  That's what this exhibit shows.  Mm-hmm.


MR. THOMPSON:  Why don't you do the 43 million over the remaining three months to avoid the risk of the people in the shoulder months getting nothing?


MS. COLLIER:  That is an option.  There is no -- it was really just the company's proposal to clear it over the one month, mostly because it was a refund back to customers.  Often we have spread it over longer terms if it's a debit that we are asking customers to give back, but in this instance it was a refund going back to customers, so it could be calculated to spread it over a longer October, November, December period.


MR. THOMPSON:  And could you also not do it on the basis of the actual volumes consumed by each customer over the nine months?  I mean --


MS. COLLIER:  I am not sure.  I mean, maybe I am wrong.  I am not sure if that suddenly constitutes retroactive ratemaking in that sense, that you are applying a rate to a retroactive volume -- I am not sure, but the riders have always been developed on a forecast basis, rider E, and in terms of first from the -- well, I won't speak to what billing may have to do to do that at the moment, but it's been our experience that -- and I believe -- and I could be wrong.  I would have to go back and check.  But a number of years ago it used to be done that way, and either the company proposed or the Board directed us -- I would have to look at it -- to do it sort of more on a prospective basis, if you will, and that's why that methodology changed.
Questions by Mr. Shepherd:

MR. SHEPHERD:  So this is designed to be a one-time credit?


MS. COLLIER:  Correct.


MR. SHEPHERD:  But it's a one-time credit that is actually based on the volumes for a month, as opposed to a simple:  Here is your dollars that you get back?

MS. COLLIER:  The dollars determined are based on the forecast, so that's the 43.9 million.


MR. SHEPHERD:  What it seems to me is that October is probably -- may be the single most variable month in terms of unpredictable load.


MS. COLLIER:  Mm-hmm.


MR. SHEPHERD:  So if you do it based on October volumes, the possibility that you will -- that Enbridge will be either a big winner or a big loser and that individual customers will be big winners or big losers, is maximized.  That doesn't seem to make sense to me.


MS. COLLIER:  Like I said, we can spread it over additional months.  There is no argument not to, if you will.  And if that is a proposal that we want to look at more, we could certainly do that.  It's really just ultimately you change what you're dividing by a greater number of volumes, and everything else being equal your unit rate decreases and it's applied to three months versus one month of volume.


So mathematically it's not a difficult calculation.  It can be done from a billing perspective, because they have set up the system to do it on a forward-looking basis, not -- as Peter may have suggested -- looking at your actual volumes.


So if that is something that we want to discuss, the company, I don't think, has any strong objections to doing it over a greater period of time.


MR. SHEPHERD:  But you can also just take the 25 --it's about 25 million in Rate 1, for example.  You could also just say:  We have got 25 million in Rate 1.  You, customer A, you had X percent of our volumes to date.  This is how much you get; here's your cheque.  Or here is your bill credit.


There is no reason why you couldn't do that, right?

MS. COLLIER:  Again, that's looking at having actual volumes from January to September.  From a billing -- it's from the billing perspective that I am thinking of this at.


Again, if you get back to the principle of the design of the rate and everything else, it all is based on a forecast.  So now everything looks like it is being trued up for actual events that have occurred over the course of the year, so you are totally moving away from your volumetric forecast that rates were designed on, that costs were designed on, that your gas cost supply mix was designed on, because you are looking at actuals that happen now throughout the course of the last – whatever -- nine months that it will be.


MR. SHEPHERD:  I don't know why that would be a problem.
Questions by Mr. Mondrow:

MR. MONDROW:  Colin, it's Ian Mondrow.  If I can just interject, sorry, Jackie, I think what Jay was suggesting, and I would like to understand the company's view on this as well, not to change the refund number in aggregate, but to allocate that refund based on a customer's actual volumes, is that something that your billing system can do?


Is that what you were suggesting, Jay?

MR. SHEPHERD:  You've got two allocations.


You've got the allocations to rate classes; that should be based on whatever the billing -- whatever the allocator was used to collect the money in the first place, so basically it's distribution revenues, I guess.


And then -- in this case.  And then the second allocator within the rate, class, yes, that's right.  I am saying allocate it within the rate class based on what their actual volumes were for the year.


MR. MONDROW:  Okay.

MR. THOMPSON:  For the year or for the nine months?


MR. SHEPHERD:  For the nine months, yeah, to date.


MR. THOMPSON:  A one-time payment; is that right?

MR. SHEPHERD:  Yeah.  That is what you were suggesting, right, Peter?


MR. THOMPSON:  No, I was.  And I thought that was being pooh-poohed, but I think that's the fairest way to go.
Questions by Mr. Quinn:

MR. QUINN:  To be fair, I wanted to add a couple point of clarification here.  It's Dwayne.


First off, having September 30th volumes available, actual volumes available for an October 1st implementation can't be done.  So if you are going to have to do that, then it would have to be a subsequent remittance of that back to customers.  So that could be handled just in the time lag.


But very clearly, Jackie, what we were asking as FRFPO, initially, is that you use actual volumes.  And I was trying to be understanding of that and said for the first six months.


I will go with Jay's approach, and frankly I think it might simplify matters.  But very clearly what we are talking about is a perspective disposition of the actuals, which is not much different from rate riders that have occurred in the past, when deferrals have been set up and rate riders have been completed based upon actual results, and then allocated on a forecast basis, prospectively.


So we hear the company is saying that you can do this, you can do it over three months or maybe one time -- and certainly, Colin, I am in your hands.  You have to possibly put an undertaking to put a bow on this.


But these are questions that I think are appropriate and I agree with the consensus I heard from other ratepayers, is the fact that October is a variable month; that is a known.


And if Enbridge is going to carry this out, then we would actually consider seeking a deferral account to make sure that there is an appropriate and complete disposition, and that nobody is hurt on either side of that.


So those are other things that Enbridge can consider.  That is what I put in the e-mail to Andrew on the weekend, but now, Colin, I will turn it over to you in terms of if you want any more clarifying questions or take an undertaking.
Questions by Mr. Shepherd:

MR. SHEPHERD:  Just before we get there, Dwayne, I just want to be really clear that we have two separate issues here.  There are very clearly two separate issues.


The first issue is:  Is the 43.889 the correct number?  And if your actual volumes at old rates were significantly greater than that, then the argument is it's not the right number; the amount you should be giving back is more.


And your point is if it was a particularly warm year and the calculated number was 40 million, we would be saying:  No, give us the whole 43.889.


MS. COLLIER:  Correct.


MR. SHEPHERD:  Whether or not we are that cynical, I will never admit to it.


But there is still the question:  Is that the right number?  And I think the only way to answer that is you will give us the volumes and we will be able to see, right?


MS. COLLIER:  Right.  I agree.


MR. SHEPHERD:  That's the first one.


The second component of this, though, is whatever the number is, do you give it back based on a customer's actual use for the year-to-date?  That is, what they paid in, in fact?  Do you give them back what they paid in, or do you give it back based on some future forecast of their volume, which produces winners or losers within the customers and winners or losers by the utility?  The utility can be either a winner or a loser.


And I think the consensus you are hearing from everybody around the table is that that second point clearly is wrong, that you shouldn't be in a situation where either the company wins or loses or there is big winners or losers between the customers.  That's just simply not fair, so you have to find a way around that, of which Peter has suggested one which may work.


MS. COLLIER:  No, I understand -- I agree with that separation of the two issues.  First is the dollar amount of the give-back.  The second is:  How do you give that dollar amount back, whether it's over customer's actual volumes from January to whatever actuals you have available or is it spread over the three remaining months of the year, or is it done on October, as we proposed.

So I appreciate there's two issues there.
Questions by Mr. Brett:

MR. BRETT:  Can I just raise a third issue?  And maybe it's a...


I may have this wrong, but the reason you need to do the lump sum payment in October, why is that?  In other words, to put it another way, why couldn't the amount be paid back, you know, in equal amounts over the three months?  Is it an inter-year problem of some sort?

MS. COLLIER:  No, that is one option that we can look at.  So basically you can remit it over October, November, December.


MR. BRETT:  It would be one less rate change, right?  Or one less amount change?

MS. COLLIER:  Yeah, from a billing perspective they would -- here is my IT.  Flick the switch from -- on October 1st and turn it off from December 31st.  I am quickly corrected that it's never that easy, but that's sort of from a billing perspective how that would work.


And from a customer's perspective, then, for their volumes for whatever they consume in October, November, December, a unit rate would be applied to it.


MR. SHEPHERD:  You are still going to have the winners or losers problem.  It's just less of a problem because three months is less volatile than one month?


MR. BRETT:  I guess I was just trying to address there the schedule payments.  I wasn't trying to address Jay's second issue or his first issue, which was how the credits are actually implemented.

MR. SHEPHERD:  Okay.  All right.

MS. COLLIER:  Okay.

MR. SCHUCH:  Jackie, is that all clear for this undertaking?  It kind of sounds like you have all the points that have been raised.


MR. SHEPHERD:  There is two undertakings here, right?


We had one already, 1.5, which is the volume information, to see whether the 43.889 is right, but there is another one now, right, another --


MR. SCHUCH:  Your second point?  You said there was two very distinct points.


MR. SHEPHERD:  Yeah, the -- well, yeah, I don't think I can claim credit for this.  I think it's Peter's, but --


MR. CASS:  So what is the undertaking?  To respond as to whether that can be done?


MR. SHEPHERD:  Yeah, whether those three options are all possible and what the results would be.


MS. COLLIER:  Okay.

MR. SCHUCH:  Okay.  Well, let's call that TCU-RO 1.6.
UNDERTAKING NO. TCU-RO 1.6:  TO ADVISE WHETHER THOSE THREE OPTIONS ARE ALL POSSIBLE AND WHAT THE RESULTS WOULD BE

Questions by Mr. Mondrow:


MR. MONDROW:  It's Ian Mondrow.  I appreciate there is an undertaking now, but I did ask a question a few rounds ago, Jackie, as to whether it is difficult to, despite what the aggregate refund number is, pay that back to customers on the basis of their actual consumption.  Is that -- and I realize that's now wrapped into this undertaking, but can you just indicate if possible now whether you foresee difficulty in doing that?


MS. COLLIER:  That was one of the methods that I was going to address in the undertaking response, so, again, looking at it from refunding based on customers' actual volumes would be sort of one scenario.  Another scenario would be going from October, November, December.


MR. MONDROW:  I understand the scenarios.  I am just wondering whether refunding on actual amounts poses, in your view, a difficulty.


MR. SHEPHERD:  Do you know the answer right now?


MS. COLLIER:  That is where I would need to speak with our billing system.  I don't know that from a programming perspective how this particular item is set up, because we have had rider E for many years now.  It's been on a perspective basis.  There is a report that tracks the balance that is refunded or collected through rider E again on a perspective.


So what I -- I never really agree to something until I speak with our billing implementation team because, quite frankly, sometimes what we think can be a simple solution is quite a complex solution, so I need to sort of take that away and address that with them, and that is sort of where -- off the top of my head where I am with that issue.


With regards to the mechanics of the give-back, it would be similar to how we develop deferral account unit rates, which are given back to customers based on actuals at a set point in time.  It's usually for a full year, so they have a database that collects it for 12 months.


So again, it's just a question of the fact that this is happening throughout the course of the year, it would be partial actuals that I just need to have a discussion with them.


MR. MONDROW:  Sorry, deferral accounts are cleared based on forecast volumes prospectively, aren't they?


MS. COLLIER:  No, the unit rates are developed based on historical volumes.


MR. MONDROW:  But the unit rate is applied to forecast volumes?


MS. COLLIER:  The unit rate is applied to the historical volumes, I believe.


MR. MONDROW:  So when you clear a deferral account you calculate how much you collected or not from a particular customer and you either give that back to them or collect it from them?


MS. COLLIER:  No.  We look at the balance of the deferral accounts.


MR. MONDROW:  Yes.


MS. COLLIER:  Based on -- they are allocated to the rate classes, all that good stuff.  We develop a unit rate, so if it was for 2013, for example, we would have 2013 actual volumes.  Those actual volumes are used to develop the unit rate, so you have your actual costs, you have your actual volumes, and it's applied to actuals -- the customer's actual consumption.


MR. SHEPHERD:  So does that mean, Jackie, that you could actually -- if you were to take the amount that you have to give back and put it in a deferral account for a day, then you already have a system in place to give it back based on historical actuals.


MS. COLLIER:  Yes, but that historical actual is always 12 months' worth of data.  Like, it's sitting -- that is what I mean.  I just need to -- I just need to talk to our billing system, because I am not sure throughout the course of the year how those actuals are tabulated and stored and a report run, and it's quite a complex engine that's used for billing.  So, yeah.


MR. THOMPSON:  So you are going to get all that for us?

MS. COLLIER:  Correct.

Questions by Mr. Thompson:


MR. THOMPSON:  So now what about rider D?  Are we not into the same problem?  You have got to give back 96.849?  You're proposing to give that back over three months, as I understand it.  You developed something for the first nine, and roll it all up?  Is that the way it works?


MS. COLLIER:  That's correct.  So the methodology used to develop rider D mimics the methodology for rider E.  We know we, again, have to give back a certain amount that we would have given back on January 1st through rider D, and we developed it then, a unit rate, to give back those dollars plus the dollars they otherwise would have received for October, November, December of this year and developed a unit rate to be credited -- the amounts credited back to customers over October, November, December.


MR. THOMPSON:  But we could still do that on a one-time payment as well, could we not, for the nine months?  What portion of the 96.849 is attributable to the nine months ending -- is it nine or eight?  I guess it's nine months, to September 30th.


MS. COLLIER:  Just a minute.  I would have that breakdown.


MR. BRETT:  74, isn't it?


MS. COLLIER:  It's approximately $74 million, Peter, of the 96.8.


MR. THOMPSON:  Okay.


MR. SCHUCH:  Is that in the package of materials, Jackie?


MS. COLLIER:  It is.  It's under the -- under rider D, which is appendix D, and in there, again, there is a write-up -- oh, sorry, you know what?  I am mis-speaking myself.  It's under -- rider D is the forecast rate impacts for the remaining 2015-2018.  It's under appendix B again in that supporting documentation.


MR. SCHUCH:  B or D?


MS. COLLIER:  B, sorry.  I am getting appendix D and rider D mixed up.  So it's rider D.  The backup and explanation is found under appendix D (sic) supporting documentation.


MR. SCHUCH:  And I am looking for 74 million, yes, and that would be a few pages in.  I see it.


MS. COLLIER:  Yes.


MR. SCHUCH:  Near the top, second paragraph.  The pages are not numbered.


MS. COLLIER:  Right.


MR. SCHUCH:  But it has rate impacts, including SRC, on the same page.


MS. COLLIER:  Sorry, you are looking at the written text?  I was looking at the exhibit.  Yeah.  Just give me a minute to pull it up.


MR. THOMPSON:  Is there anything in the -- the numbers in words, is there anything in the schedules?


MS. COLLIER:  Yes, there is.  That is where I was looking.  So if you go to the three page of schedules that develop the rider D on page 2.


MR. THOMPSON:  Pages 1, 2, and 3?


MS. COLLIER:  Correct.


MR. THOMPSON:  Okay.


MS. COLLIER:  So on page 2, you see part 2, so that part 2 is the determination of the January through September give-back, and you see total site restoration credit clearance to customers, $74 million.


MR. THOMPSON:  Okay.  Got it, thank you.


MS. COLLIER:  Okay.


MR. SCHUCH:  So Jackie, just hypothetically, in our discussion about rider E, should it be deemed appropriate to go with a one-time adjustment based on actuals, is there any reason for rider D we couldn't do exactly the same thing, combine the two and have a combined one-time credit based on actuals in October?  I mean, subject to talking to your billing people, but conceptually is there anything that would prevent that kind of activity?


MS. COLLIER:  Again, I think it's -- off the top of my head, it's just from a billing perspective.


MR. SHEPHERD:  Well, rider D is a continuing rider; right?


MS. COLLIER:  No, but they are talking about the true-up amount of it would come through, like that 74 million -- like, the rider ultimately is 12 months of costs and 12 months of volumes, and you develop a unit rate, so you have a unit rate for 12 months of the year.  And then we are just trueing up that unit rate for what would have happened in January to September.


So it's that portion, the part two portion of that unit rate, that would be applied to customers -- well, that part two portion of the unit rate would change because you would be spreading it over a different base, but anyway it would be applied to customers' actual consumption from January to the date of implementation, which -- I guess probably it would be the end of August.  We wouldn't have September actuals for anything, but -- yeah.

Questions by Mr. Mondrow:


MR. MONDROW:  It's Ian Mondrow.  Sorry, Colin.


There is a conceptual difference in that this $74 million wasn't collected from those customers over that period, as distinct from rider E.  Rider E captures the difference between the revenue at interim rates and the revenue at final rates.


MR. SCHUCH:  But it is still a revenue amount that needs to be refunded.  At that level, it's money that needs to come back, and my question is really:  Can it be given back based on actual volumetric consumption of the customer for the first nine months of the year or eight months?  That's the question.


MR. MONDROW:  This $74 million would have given back in those nine months, but was not an amount that was collected in those nine months; is that right, Jackie?

MS. COLLIER:  That's correct.


MR. MONDROW:  Okay.  Thanks.


MR. THOMPSON:  That really doesn't matter, I don't think.  I mean, they are planning to give it back over three months of forecast consumption.  They can certainly give it back over eight months or nine months of actual consumption.


Surely there is no problem in doing it.  It's just a cheque or a credit on the bill.  One-time credits have been quite common over the years.


MR. SHEPHERD:  Yeah, you can't do it until the end of August, though, because then what do you do with September?  You have to do it to the end of September.  It may mean that that credit doesn't come until November or December, but you have to go to the end of September.


MR. AIKEN:  It could be a good Christmas present.


MR. THOMPSON:  Right.  No, I agree with that.

MS. COLLIER:  Yeah.  These will be addressed in the undertaking response, some of these issues.

MR. SHEPHERD:  All right.  Did you have some more on that part, because I have some follow-up questions relating to the --


MS. COLLIER:  I didn't have any -- much more in terms of the evidence that you have in front of you.  I think we've touched now on rider -- after I did the cost allocation rate design, the rider E, the rider D.  And so if you have particular questions, we could move to that.

Questions by Mr. Brett:


MR. BRETT:  Excuse me, can I just, Jay -- I am going to just ask one other question, with Jay's forbearance.  And this is a simple question.  I guess I should know the answer to this -- not I guess, I should.


Could you just explain to me at a high level what is the difference between rider D and rider E?  I initially thought that one was somehow caught within the other, but what does D do and what does E do?


MS. COLLIER:  So rider E is a rider that is only put into place when our rates -- our effective date of our rates is not put into billing on the 1st of January.  So the fact that we are putting our rates in place on October 1st, we need to, in this instance, credit customers from what they have been paying in their rates under existing rates versus what they will be paying under the new decision rates.


So it's a rider adjustment to reflect the difference between what customers should have been paying in the rates versus what they have actually been paying in their rates.


Rider D is a new rider that will be effective in 2014, and that is to give back the monies from the site restoration cost clearance.  So the dollars we spoke of earlier, the $96.8 million that will be refunded through customers through the rider D, is to give back those over-collection of site restoration costs we had.


MR. BRETT:  Is that the amount that -- it seemed to me when we were back in the case way back, we talked about that refund going outside the rate system as such.  It was going to be paid on the bill.  Or has that changed now?  This is going into the rate, essentially?

MS. COLLIER:  No, it's not.  So if you were to look at our blocked distribution rates, for example, for a Rate 1 customer, the dollar amount, that 96.8 million, is not embedded in there.  It's being refunded through that rider D.  That is why it's a rider over and above what is embedded in rates.


So the 96.8 million is not embedded in the design of the rate.  That's happening through this rate rider.


MR. BRETT:  On the other hand, rider E picks up the rate implications of the SRO, as well as all the other changes is rates that have occurred as a result of the decision; is that right?

MS. COLLIER:  Correct.  So we are looking at revenue at existing rates that customers have been paying versus now the revenue under decision rates.  And it's trueing up for that difference.


MR. SHEPHERD:  But including all the SRC things, other than the 120?


MS. COLLIER:  Including the impacts of SRC as it relates to the determination of the allowed revenue.  So the elements that Ryan spoke to, the depreciation expense, rate base, et cetera, that's embedded.  The true-up of that is embedded, if you will, in the rider E, because it's not in our existing rates.  It's now going to be in our decision rates.


But the rider D is that separate pool of dollars that we are going to give back, and that's the 96.8 million for 2014.


MR. BRETT:  What is the 120 that Jay is talking about?


MR. SHEPHERD:  That is the incremental 120 we'll be getting back under the decision.  From 259 to 379.


MS. COLLIER:  Correct.


MR. BRETT:  Thank you.


MR. MONDROW:  Jackie, sorry, it's Ian Mondrow.


Just on that detail, in the interim rates Enbridge was collecting an amount for SRC that was higher than the final amount of SRC to be collected going forward; correct?


Apart from the depreciation and tax impacts, there is an actual collection of money that's a notional sinking fund, even though you didn't segregate it that way?


MR. SHEPHERD:  It's included in the depreciation, though, isn't it, Ian?


MR. MONDROW:  Well --


MR. THOMPSON:  It's the 85 million -- it's the one-fifth of 85 million, what you are talking about.  That was -- higher depreciation was being collected.


MR. MONDROW:  Right.  That's right.


MR. THOMPSON:  And now they have lowered the depreciation, and that throws up a revenue sufficiency for 2014.  And they are now paying nine months of that revenue sufficiency back in rider E.


MS. COLLIER:  That's right.  Correct.


MR. SHEPHERD:  So the over-collection of 204 SRC is actually built into rider E, because it's a revenue requirement impact this year, right?

MS. COLLIER:  Yes.


MR. MONDROW:  That was the point I was trying to highlight.  As opposed to the accumulated over-collection as of December 31st, 2013, which is what we are talking about now in rider D.


MR. SHEPHERD:  Yes.


MR. MONDROW:  Correct?


MS. COLLIER:  Yes.


MR. MONDROW:  Thank you.


MR. THOMPSON:  That's over-collections in years prior to 2014.


MR. SHEPHERD:  Actually prior to 2013, but who's counting?


MR. THOMPSON:  Well, 2013 is a year prior to 2014, to be precise.


[Laughter]


MR. SHEPHERD:  I think we should refund the 379 based on actual volumes over the period since 1959.  Can we do that?


[Laughter]


MS. COLLIER:  Costs you a billion dollars in CIS costs to do that, but...


MR. SHEPHERD:  There you go.


[Laughter]

Questions by Mr. Thompson:


MR. THOMPSON:  I have one other question here.  It's Peter Thompson.


Normally these packages have a notice to customers, but this one doesn't.


MS. COLLIER:  We indicated in the covering letter, Peter, these rates will be sort of immediately superseded by our October QRAM rates.  So from a customer's perspective, when we implement rates on October 31st, they will see the effects of this decision, as well as our standard QRAM rate change.  So from a billing perspective and from a customer's perspective, they only see one rate change.  So we don't draft a set of customer rate notices at this point, because it will change to reflect whatever is going to happen with the commodity rate or rider C, et cetera.


So that will be submitted as part of the October QRAM application, where in that rate notice we'll explain the effects of the decision, we'll explain rider E, we'll explain rider D.  And then we'll explain whatever is going to happen as a result of the QRAM.


MR. THOMPSON:  I appreciate that, but I am interested in how you are going to characterize what has happened here, because the way I understand it -- and you can correct me if I am wrong -- is what the Board has done here is approve revenue requirement changes over the next five years that produce a net increase of $350.9 million, and that's the sum of the revenue sufficiency in '14 and '15 and then the deficiencies in the other three years.


So that's the effect of the Board approval, and then they have also separately approved a SRC refund of over-collections in years prior to 2014 of 379.8 million.  Just stopping there, have I got that straight?


MS. COLLIER:  Correct, that is the outcome of the Board decision.  Continue.


MR. THOMPSON:  Okay.  Well, just look at those two numbers, 50.9 of 3 --


MR. SHEPHERD:  Peter, hang on for a second.  That can't be right.  You can't have 350 million of net increases and 379 of refunds.  That's not possible, because that would mean rates aren't actually going up, and I know they are.


MR. THOMPSON:  Well, just let me finish.  That's what the approvals indicate.  Now, when you look at those series of numbers, the 350.9 and the 379.8, you could -- you could have flat rates for five years; right?


MR. SHEPHERD:  No.


MS. COLLIER:  I think you are combining the effect of the allowed revenue impacts with the site restoration costs, and we have treated those separately.  When you say "rates", it could be bill impacts could be like that, but the rates themselves will change to reflect the allowed revenues, and they are not going to change to reflect the allowed revenues exactly as you see in Ryan's exhibits, because those will be -- certain elements of those will be updated each year as part of our customized IR package, things like volumes, gas cost mix, ROE, et cetera.


The second part of that is the site restoration costs credit, which is being refunded to customers outside of rates.  It's being refunded through a rate rider.  So maybe it's just a nuance of when you are saying rates will be flat, maybe the bills may look flat, but again, it's -- what's happening going from 2015 to 2018, the rate impacts that we have put in, as well as the allowed revenues, they will all be updated to reflect the changes that have been approved in our customized IR and that are laid out in appendix F, I believe it is, the elements which will change as a result of our customized IR.


So from a communication perspective, I don't believe our process would be to communicate sort of long-term like that beyond what's happening with the October rate change, simply because it's a long way out there for customers, and typically the rate change is really for the next quarter in question, because that's ultimately what customers will see when they open their bill in October or November.


MR. THOMPSON:  But that's my point, is you -- in describing the impact of this decision, I think you have to be quite precise as to what, in fact, is going on.  Take, for example, for 2014, you have the impacts -- here they are in working papers supporting the final rate order.  You have on, I think it's page 3 of this stuff -- this is just above the rider D, site restoration cost X you were referring to, and you have key service rate impacts, and you go out -- and those are the rate impacts, as I understand it, of the 62 million revenue sufficiency.


MS. COLLIER:  That's right.


MR. THOMPSON:  Okay?  And so that's rate reductions across the board; right?


MS. COLLIER:  Yes, correct.


MR. THOMPSON:  We go over the next page, and you have got average rates impacts.  That's your phrase.


MS. COLLIER:  Mm-hmm.


MR. THOMPSON:  Inclusive of SRC.  That's the rebate, right?


MS. COLLIER:  Correct.


MR. THOMPSON:  And that's driving those numbers up to reductions substantially higher than on the first page.


MS. COLLIER:  That's right.


MR. THOMPSON:  Okay.  So we know that that's the situation in 2014.  Then we go to the material you filed yesterday, which is the impact in future years.


MS. COLLIER:  Yes.


MR. THOMPSON:  And so this is appendix D.


MS. COLLIER:  Correct.


MR. THOMPSON:  And you have -- again, you are showing in column 1 the rate impact, but that's not including SRC; right?


MS. COLLIER:  That's right.


MR. THOMPSON:  Not including SRC refund.


MS. COLLIER:  That's right.


MR. THOMPSON:  So the same applies to these numbers that are in columns 2, 3, 4, and 5.


MS. COLLIER:  Yes.


MR. THOMPSON:  Can we get those numbers showing including the SRC refund as they are in the previous document?

MS. COLLIER:  Yes, I can put something together so you will have the effect of both.


MR. THOMPSON:  So the -- including the SRC refund, as we saw in the other document, you are going to have considerable percentage reductions in 2014.


MS. COLLIER:  Mm-hmm.


MS. COLLIER:  And then if you look, for example, at line 1 in the appendix D, page 1, for years 2015 to '18 they total about 12 percent, 2.3, 4.9, 2.7, 2.8, but those numbers will be pulled down by the SRC refund; right?


MS. COLLIER:  Yes, they will.


MR. THOMPSON:  Okay.  And all I am suggesting is if you put -- if you put all these numbers with the SRC refund in, and you looked across, you could probably have a scenario where you allocate the refund in a way that the rate changes, including the SRC refund, are close to zero; am I right?  What ratepayers would then be facing is a jump up in 2019, the rebasing year.


--- Telephone beeping sounds.


MR. SCHUCH:  Is that somebody joining or leaving?


MR. WIGHTMAN:  I just came back, Colin.  I had to go away.


MR. SCHUCH:  Okay, thanks, James.


MR. THOMPSON:  So I guess if you would just undertake to give us the --


MS. COLLIER:  Yes, I will update this appendix D, page 1, and provide the rate impacts inclusive of rider C for years 2015 to 2018 -- or for all years.


MR. THOMPSON:  Was any consideration given to having it flat for five years?


MS. COLLIER:  Having the rate flat for five years?


MR. THOMPSON:  Having the total impact of rate and SRC structured in a way so that the outcome would be flat for five years, what you call average rate impacts inclusive of SRC.


MS. COLLIER:  Well, again, the rate impacts that you are looking at there exclusive of SRC are a function of the allowed revenues, which are based, again, on a forecast of costs for each of the years that we have, so for example, we know in 2016 we have a cost increase because of the GTA project, for example.  So it's not -- we are not sort of developing some sort of five-year rate that's being smoothed.  The rate is still being designed on the traditional cost-of-service approach, if you will, using cost-allocation methodology, using rate design, and reflecting what is forecast to happen in that particular test year with regards to volumes as well as costs.


So I think what you are proposing is a very different exercise than what's been approved, regardless of showing it on an exhibit, the actual derivation and everything of the rates will follow our standard determination of allowed revenue, revenue deficiency or sufficiency that will fall out from that, as well as the cost allocation and rate design.
Questions by Mr. Aiken:

MR. AIKEN:  Peter, it's Randy Aiken.  Can I jump in here and just ask a clarification of what you are asking for?


MR. THOMPSON:  Sure.


MR. AIKEN:  Are you essentially saying that you take the 379.8 million that's referenced back on page 6, and instead of the profile over the five years that Enbridge has proposed, there would be another profile where the total bill impact could be flat over the five years?


MR. BRETT:  Right, I think so.


MR. THOMPSON:  It's a smoothing option, I guess, is what I am really saying.


MR. AIKEN:  Yes.  So you are saying if you deviate from the 96.8, the 90.4, et cetera, et cetera, so that the numbers go maybe from 50 to 60 to 70 to 80 to 90, whatever is needed --


MR. THOMPSON:  Yes, exactly.


MR. AIKEN:  -- this increase in the SRC rebate would offset the increase in the revenue requirement.


MR. THOMPSON:  Correct.


MR. AIKEN:  Okay.


MR. BRETT:  I know we are not arguing here, so this is not an argument, but I would just observe that what Peter is talking about is getting that kind of a result.  Whether you have the flexibility to get there by effectively changing the profile is something for you to decide.  I think you do, but -- we talked about that earlier.


But my point is only that customers, commercial customers take a lot of comfort from stability in rates, as opposed to something going down and then up.  If they had an opportunity to look at something that was very smooth over a period -- I mean I am using "rates" here liberally.  I am using rates combining the rider and the rates that you develop on cost of service principles.


But anyway, I just want to make that point, that stability is quite important, attractive, quite attractive to them.


MR. SCHUCH:  I think there was an undertaking that was agreed to by the company about three minutes ago, four minutes ago.


MR. BRETT:  Right.  To produce that data, yeah.


MR. SCHUCH:  Let's give it a number now.


MS. COLLIER:  Sorry, what am I providing?  Oh, sorry, the undertaking that shows the rate table inclusive of SRC?


MR. THOMPSON:  Right.


MS. COLLIER:  Based on our proposal.


MR. SCHUCH:  Let's give it a number and move on.  TCU-RO 1.7.
UNDERTAKING NO. TCU-RO 1.7:  TO PROVIDE THE RATE TABLE INCLUSIVE OF SRC.

MR. AIKEN:  Okay.  Now, I have another question that follows up on table 1 and appendix D.  And because that excludes the impact of the SRC, I assume that's comparable to the table that was provided in response to CME No. 16 way back whenever.  Because it also says it excludes the SRC.


MS. COLLIER:  Okay.


MR. AIKEN:  My question is:  Why are the rate impacts 2015 through '18?  And I am looking at Rate class 1 in particular.  The rate class impacts are now higher than what they were based on the original evidence.


MS. COLLIER:  Mm-hmm.


MR. AIKEN:  Is that because the 2014 rates are correspondingly lower, so it's really coming off a bigger base?  And that's why --


MS. COLLIER:  That's essentially the impact of that.  Exactly.

And I tried to explain that in the supporting documentation that accompanies that, that -– exactly, because our 2014 base is lower now, all other things being equal, if you assign the same amount of costs to it, you are going to have a higher percentage increase on your bill.  Your bill would actually be less dollars that you are paying, but from a percentage increase, it shows a slight increase versus what we had before because your base is so much lower.


But for a residential customer, I gave an example there that they are actually paying less.  It is just that from a rate increase perspective, it looks like more.


That is it exactly.


MR. AIKEN:  Okay.


MR. SHEPHERD:  And you are also adding another 205 million of rate base, right?  85 plus 120?

MS. COLLIER:  Yes, the -- the other fallout is the change in costs that have occurred from updating Ryan's exhibits.

But the base rate has really come down, ultimately your starting point that you do your comparator to for 2015 to 2014, for example.  Each of those base rates is slightly lower and any cost increase or the exact same cost increase would produce a higher right impact but not a higher bill impact, is what I am trying to say.
Questions by Mr. Shepherd:

MR. SHEPHERD:  Tell me whether I understand this right.  And this is sort of follow-up to what Peter was asking about.  I am looking at the last page of the stuff you filed yesterday.


MS. COLLIER:  Okay?

MR. SHEPHERD:  And if I understand correctly --


MS. COLLIER:  Are you talking about the year-over-year --


MR. SHEPHERD:  This one.  This one, yes.


MS. COLLIER:  Yes.  Okay.

MR. SHEPHERD:  So I am looking at line 28, and I am thinking that if I add to line 28 that list of SRC amounts 96.8, 90.4, et cetera, for each year, I will get the impact on distribution bills each year.


So for example, in 2014 the impact on distribution bills is a 62.1 million reduction because of this part.


MS. COLLIER:  Yes.


MR. SHEPHERD:  Plus 96.8, because of SRC refund, equalling 158.9 reduction.  Do I have that right?


MS. COLLIER:  Yes.  That's essentially --


MR. SHEPHERD:  Okay.  So I can do that for each year and calculate -- and these are based on previous year, right?  So for example, the next year there is a net 30 million reduction because you have 60.4 increase because of the rate part, and you have 90.4 repayment of SRC, so the net reduction in bills is 30 million in addition to the first year, right?

MS. COLLIER:  That's correct.


MR. SHEPHERD:  And I could go through that throughout and get to the point where I believe we have bills, distribution bills at the end of the period being approximately 200 million less, if I understand this correctly.


And that doesn't sound right to me.

MR. SCHUCH:  20 million less than what, Jay?

MR. SHEPHERD:  Than today.

MR. SMALL:  I really need to sit and think about the math, but I think we are somehow missing the cumulative nature of -- not the rider D amount, because it's kind of an annual one-time give-back, but these -- as an example, I guess, to go from 2014 to 2015, we are going to need to increase rates by 60.4 million.  And all else being held equal, that would be in place for the five years, but going into 2016, we need to increase it by an additional 30.


And I think we are somehow missing --


MR. SHEPHERD:  Oh, because the SRC amounts are not cumulative?  Okay.  I understand.  You are right.


MR. SMALL:  Sorry, I don't know if I explained that well, but --


MR. SHEPHERD:  I get it.  I couldn't understand why you ended up with that number.  Now I do.  Okay.
Questions by Mr. Mondrow:


MR. MONDROW:  Sorry, it's Ian Mondrow.  So these numbers that Jay was looking at are all relevant to 2013 rates, each individual number?


MR. SHEPHERD:  No.  Actually the rate numbers are relative to their prior year and the SRC numbers are relative to 2013, so that's why it doesn't add up the way it should.


MR. MONDROW:  Oh, okay.

MR. THOMPSON:  I think what Jay is getting at if you plot the revenue sufficiency in 2014 of 62.1, and then it becomes 1.7 in 2015 and then it becomes positive numbers, and then put underneath those the SRC refund amounts, you can get the -- I think the numbers he is looking for.


And I think what Randy and I were suggesting is you can structure that pattern of SRC refunds in a way that has quite a different impact on the overall rate impacts.


MR. MONDROW:  And what does the decision say about the SRC refunds -- there's a word -- profile, was the word used earlier.  Does it specify what the profile is supposed to be?  Or is it gross amount, total amount?


MS. COLLIER:  I know from the company's perspective -- and Andrew touched on this earlier -- was that when we were profiling the give-back of the SRC, we were trying to look sort of ahead at the rebasing year, and that you are not showing sort of very significant decreases, and then all other things being equal, if the SRC is gone, then a significant increase in 2019.  So we were trying to profile it, well, it's sort of heavily weighted in these years and then it tapers a bit, so the bill is naturally coming -- well, it's going up, I guess, in this instance.


So whatever may happen in 2019, if there is no SRC credit, for example, then the bill impact will not be -- would be mitigated.  That was the theory behind the distribution of how we have spread the SRC over the five years.


So spreading it equally over the five years will sort of do away with that plan of ours, of where we were kind of looking long-term of coming out of this IR term, going into the next one, no SRC credit there, and what does that mean on a customer's bill going forward.


So mechanically all these calculations can be done, but that was the company's point of view in developing the give-back of the SRC.
Questions by Mr. Shepherd:

MR. SHEPHERD:  One of the effects of this is that the SRC pattern actually makes the -- from the customer's point of view, the rate increases in 2015 through 2018 higher, right?  Because the SRC is going down, that means that each year they're getting less back, so from their point of view, they are seeing a rate increase.  They are getting rate decrease in 2014.


MS. COLLIER:  That's right.


MR. SHEPHERD:  And then each year after that, they are getting an increased rate increase because the SRC is going down?

MS. COLLIER:  That's right.


MR. SHEPHERD:  And then each year after that they are getting an increased rate increase because the SRC is going down?


MS. COLLIER:  That's right.


MR. SHEPHERD:  So where it says, for example, in 2016, 4.9 percent, that's actually more like 6 percent because of the SRC change from their point of view.


MS. COLLIER:  Correct.


MS. SEBALJ:  I don't know if you are waiting for an answer from me, Ian, but my reading of the decision is that there is nothing with respect to -- only the amounts were changed.  There was nothing with respect to the profile or on what basis it should be -- the excess should be refunded.


MR. MONDROW:  Thank you.


MR. CASS:  So where are we at?  Are there more questions?  Have we more or less come to the end of the questions?  I am not sure.


MR. SHEPHERD:  Yes, I have some questions.


MR. SCHUCH:  There is a few more.


MR. CASS:  Sure.  Okay.


MR. SHEPHERD:  Do you want me to go?


MR. CASS:  Yes.


MR. SHEPHERD:  Okay.  Just one second.  I am just making a note.


So I am looking at the DRO filing, not the update yesterday, but the DRO filing at H2-7-1, which is the sample customer impacts for 2014.  And so --


MS. COLLIER:  Sorry, are you on a particular page, or just the whole...


MR. SHEPHERD:  Well, I am on the first page.  It doesn't matter.  They are all the same.  Different numbers, but all the same concept.


What I did is I tried to compare the implied volumes in the change amounts with the -- because the change amounts here are based on the volumes for either October, in the case of the rate component, or based on October through December for SRC; right?


MS. COLLIER:  No.


MR. SHEPHERD:  Okay.


MS. COLLIER:  Sorry, this represents an annual bill impact.  So it's a snapshot of a -- if you are looking at example A, a customer consuming 3,064 cubic metres, so that's a residential customer's annual volume, so we didn't do a snapshot of what's going to happen on their October bill.  Rate impacts are always on an annualized basis.


So this is the change in rates, assuming the rates were in place January 1st and assuming that the rider C was going to be refunded on January 1st.


MR. SHEPHERD:  So this is not what you actually expect to happen at all.


MS. COLLIER:  No, it never is, if you will.  It is always -- everything again -- it all goes back to the 12-year forecast of everything that we produce, and the fact that we are sort of later in the fiscal year and that is these exhibits, whether we do October QRAM, a January QRAM, an April QRAM, it's always that standard 12-month snapshot of what is going to happen over a 12-month period.


MR. SHEPHERD:  Well, okay.  So in the case of SRC, in the case of that line, it shouldn't make a difference, right, because you are trying to give back exactly the correct amount.


MS. COLLIER:  Yes, yes, right.  So in this instance, had it been in place on January 1st to December 31st, it would have given back approximately $46.85 for this residential customer.


MR. SHEPHERD:  Yeah, and so that's in fact what you are assuming you are going to give back October to December, right?  You have done the calculations --


MS. COLLIER:  That's exactly --


MR. SHEPHERD:  -- to achieve that result, right?


MS. COLLIER:  Yes.


MR. SHEPHERD:  But that depends on these uses being correct and these numbers are not correct relative to what's actually going to happen, right, because these assume 12 months' volumes --


MS. COLLIER:  Mm-hmm.


MR. SHEPHERD:  -- and a rider based on 12 months' volumes, as opposed to the three months' volumes that you are actually using; right?


MS. COLLIER:  Mm-hmm.


MR. SHEPHERD:  The reason I am asking that is because these different customers have different patterns of use.


MS. COLLIER:  Correct.


MR. SHEPHERD:  And so we'll actually get back in site restorations different amounts based on their pattern of use.  High heat load customers, for example, will be more likely to get back more, whereas process customer, industrial process customer, will get back relatively less than these numbers; right?


MS. COLLIER:  For 2014, you mean, the way it's designed?


MR. SHEPHERD:  Yes, yes.


MS. COLLIER:  Again, so the dollar amount was determined all based on an annualized basis, and those dollars, yes, will be refunded over October, November, December volumes for a customer.  So depending on what that customer's consumption is in those months will be what actually occurs on his bill.


The derivation of the unit rate of the rider would have been based on the forecast riders for October, November, December, so that unit rate, if it's high or low or whatever, it's based on the forecast again.  So everything is based on those forecast volumes to develop the rates.


MR. SHEPHERD:  All right.  So that's fine.  I understand that.  I mean, it means that this is misleading, because this is not what you actually expect to happen.  These are 2014 numbers, and they are not correct, and you know they are not correct.


MS. COLLIER:  No.  If I look at a customer's profile and I look at the October, November, December volumes for an average customer profile, and I apply the unit rates that we developed, I come back to the annual $42 that I expected to --


MR. SHEPHERD:  Yeah, but you are not, in fact.


MS. COLLIER:  Pardon me?


MR. SHEPHERD:  That would only be true if they had the average use for the entire class.  There's --


MS. COLLIER:  Yes, but that's true with every rate that we -- and rate impact that we do.  It has to be --


MR. SHEPHERD:  Well, no, the -- these --


MS. COLLIER:  -- based on the average -- I mean, your rates are based on the average for the class --


MR. SHEPHERD:  These are --


MS. COLLIER:  -- these would be outlayers (sic).


MR. SHEPHERD:  These are customers that are set up assuming certain load profiles; right?


MS. COLLIER:  The determination of what you see here in this exhibit is based on a load profile, yes, but ultimately it doesn't matter what that load profile is to calculate this, because you are applying it to 12 month of volume.  I mean, it --


MR. SHEPHERD:  But you are not.  That's my point. This is --


MS. COLLIER:  Yes.


MR. SHEPHERD:  -- applying to 12 months' volume.


MS. COLLIER:  Yes.


MR. SHEPHERD:  So when you are saying that the relative refund to the heating-only person, as opposed to the heating and water-heating person, are the same -- that is, they are the same relative to their volume -- that's not correct.  You know that's not correct.  What is actually going to happen is different, because their load for October through December, you already know these standard customers have different loads in October through December; right?


MS. COLLIER:  Yes, but even on an annual basis they are not getting back the same amount, right?


MR. SHEPHERD:  No, no, no, but --


MS. COLLIER:  No, I understand, but --


MS. SHEPHERD:  -- the same amount relative to their annual use.


MS. COLLIER:  Yes, so -- but in the derivation, that's being captured, if you will, in the forecast volume of all of rate 1 for October, November, December.  That profile change, if you will, I mean, all other things being equal, we have a certain profile of volumes throughout the course of the year that is to mimic average use.


So I don't know how else to explain this.  The derivation -- when we are looking at from the volumetric perspective, how the volumes were forecast for October, November, December, that total volume that I receive from the forecasting group takes into account the profiles of our customers and how they consume over the course of the year.


MR. SHEPHERD:  No, no, I guess my point is that these various different customers are set up.  The difference between them is their volume and their profile.


MS. COLLIER:  Correct.


MR. SHEPHERD:  In terms of the SRC refund, the profile is irrelevant here, because --


MS. COLLIER:  In this example, yes.


MR. SHEPHERD:  -- because you are assuming it's a 12-month refund, even though it isn't, so the profile is in fact relevant, but that doesn't show here, right?


MS. COLLIER:  Yes, it does make a difference on this exhibit, correct.


MR. SHEPHERD:  All right.  That leads me to the second part of my question, which is, I assume that -- I figured out that that is what you were doing, but then I said, okay, well, then shouldn't the percentage use -- how should I explain this?  If your aggregate October through December volume for a particular rate class is -- in the case of Rate 6 is 23.764 percent, October through December in aggregate is 23.764 percent, that's from your table of the monthly volumes, right?


MS. COLLIER:  Okay.


MR. SHEPHERD:  So if that's the case, then why would this be based on 23.84 percent, this table that I have just been referring you to for Rate 6?


Because you can calculate what the volumes are, right?  Based on what the refund is?  We know what the amount is you are giving back, so we know what the volumes are?


So I don't understand why you would end up with a different result.


MS. COLLIER:  Sorry, you just lost me there for a second.

MR. SHEPHERD:  All right.  I will give you an example.


Take -- if you go to page 3, take a look at this customer with the volume of 29,278.  Okay?  You see that?

MS. COLLIER:  Yes.


MR. SHEPHERD:  So that customer is going to get back 149.53.  You can calculate what the volume is on that because your amount, your rider is 214.19.  So if you just divide by 2.1419 cents, you get the implied volume.


But that volume is a different percentage than the percentage that you say is your actual volume for that class.  They are all the same; they are all the same volume, 23.844.


That shouldn't be the case.  It should actually be exactly the average volume that you have in your October to December volumes.


MS. COLLIER:  But the rider unit rate that you used, the 2.1419, so again, it's been calculated in two parts, right?


MR. SHEPHERD:  No, I understand.


MS. COLLIER:  So in your example that you are giving, though, like, when you are saying you backed into the volume, that is where I get little lost.  Because that dollar amount was actually based on a 12-month rider, right?  A unit rate that is consistent throughout the year, times the profile of volume of 29.278.


So you are trying to sort of back into an October volume that would have --


MR. SHEPHERD:  October through December.


MS. COLLIER:  October, November, December volume.


MR. SHEPHERD:  It's a three-month volume, right?  For that?


MS. COLLIER:  I don't know if that math works.  I don't know.  I have never looked at it from that perspective.


MR. SHEPHERD:  How could it not work?


MS. COLLIER:  Because these represent a variation of different typical customers, or average customers.  So again, commercial, large-volume commercial, heating, et cetera.


When you are looking at how we developed the rider, when you look at the volumes that were used, so that is for all of the Rate 6 class in totality, and it would have been based on the forecast of volumes, in this instance, for October, November, December, based on the whole rate class, which is the sum of many of these different types of customers.  So it's always based on the average, so to the extent --


MR. SHEPHERD:  We have established that you didn't differentiate.  You didn't differentiate these customers based on their load profiles.


MS. COLLIER:  No, I agree that these typicals do not -- these typicals are taking an average unit rate for the year times an annual volume.  It is not looking at what would happen on a customer's bill in October, November, December.  It's on an annual basis, all other things being equal, this is what would happen.


MR. SHEPHERD:  This is 51.07 times annual volume –- 51.07 is the annualized amount, the annualized rider?


MS. COLLIER:  Okay.


MR. SHEPHERD:  Right?  That is what it is?


So it should work out to be exactly the implied volume that you have when you -- that you use to set it in the first place, right?


And I don't understand why it wouldn't match.  It does in residential, by the way, exactly.

MS. COLLIER:  I'd have to look at your calculations.  In all honesty, I am not quite understanding why it doesn't match, if that is what you are asking.  I would have to sort of look at the calculation.


But to the extent that the volumes that we use to determine the rider are slightly less, you are saying, on average than the ones in the typicals -- is that what you are saying?


MR. SHEPHERD:  Yes.  Yes.


MS. COLLIER:  So all other things being equal, then the rider unit rate for Rate 6 is higher than it should be, so they're getting a --


MR. SHEPHERD:  Or these samples are incorrect.  They are too low.


MS. COLLIER:  But again, the samples were not looked -- these are our standard samples that we have had since the beginning of time, and it's not looking at it from that perspective.  These were just to show:  On an annual customer's bill, this is what would occur.

So you are trying to sort of tie back into some sort of profile that underpins this, that maybe -- that is where I am getting a little lost.  I am not sure that it is going to be this one-for-one match, so it may be easier if you want to show me that, but --


MR. SCHUCH:  Would this be something that you two maybe could take off-line?


MS. COLLIER:  That's what I'm wondering, yeah.

MR. SHEPHERD:  We will take it off-line.
Questions by Mr. Schuch:

MR. SCHUCH:  While we are on this subject of bill impact, I did want to have a little discussion about bill impacts for the five years.  I note throughout the package that it's mostly rate impacts that are shown, percentage.  That's helpful stuff, but I think customers also relate well to a bill impact analysis, because they can understand what it means in dollar terms to what they might expect to pay.


MS. COLLIER:  Mm-hmm.


MR. SCHUCH:  So I was wondering if we could have that discussion.  What I would kind of like to see is an average volume over the five years of the plan, Rate 1 and Rate 6, relative to the base rates, which I think are last fall, 2013.


MS. COLLIER:  Correct.


MR. SCHUCH:  What a customer should expect to see based on the Board's decision in terms of their bill impact separate -- with SRC separated out.


So it would be the rate side of it, that impact, and then also this SRC refund that they are going to be getting for five years.  Can we talk about that?


Because it isn't in the package.


MS. COLLIER:  No, it isn't in the package, and I don't believe it was in our initial evidence as well.


How I mimicked the -- well, the rider -- the supporting documentation for the derivation of the rates is sort of I mimicked what we put in our evidence.  So we -- for 2014, clearly, there is typicals that were filed in evidence with and without SRC, the rate impact tables, et cetera.  So as we went from 2015 to '18, we were showing more just those rate impact tables in our evidence.


MR. SCHUCH:  Right.


MS. COLLIER:  As opposed to standard typicals that you are used to seeing, and because we weren't sort of fine-tuning rates to that same level of detail going out forward, if you will.


So we were using more averages and average rate changes and things like that.  So because a certain amount of preciseness gets a little -- in terms of a $1 change in a customer's bill versus a 2.1 percent change in their bill, it is just the preciseness that, going forward —- I mean, certainly information can be prepared.  It's just knowing that a number of the elements that will make up the allowed revenues in 2015 to 2018 –- i.e., the volumetric forecast, gas cost, supply mix that underpins it, updates to cost of capital -- those elements will change.


So ultimately those rate impacts will not be the same, is all I am trying to say, all other things being equal, because we know we are doing certain updates.  That's all.


MR. SCHUCH:  That's right, but now that the dust is settling on this five-year plan, it seems to me we are almost at a point -- maybe not quite there, but pretty close to a point where we can say based on everything we have now, we should be able to, for Rate 1 and 6, say on an average basis:  This is what your bill is going to be -- is going to look like.


And I am not talking about nine decimal places or multiple profiles.  Basically just to pick an average for the two rate classes.


MS. COLLIER:  No, and again, that can be done.  And when you say:  This is what your bill is going to look like -- but ultimately their bill will be something different, because ultimately, again, what they see on their bill is the effective gas price in that quarter.


So I don't know in 2016 where gas costs may be, what their commodity rate may be.  And ultimately that is what they will see.  When we put that bill insert in their bill with their QRAM rate change, that is what they are going to see.


They are not going to see whatever I presented here, 2.3 percent increase next year on their bill.  They are going to see that as well as whatever may happen with gas costs.


That is the only caveat I want to put out there.  That's all.


MR. SCHUCH:  I would be happy now if you want to put caveats on the bill impact analysis, whatever caveats you feel are necessary.  I think most of us know that every year we are going to have an update to the revenues anyway.  Gas costs are going to change, but at this point in time, today, I think we do know something or we are very close to knowing something.  And I think after this long proceeding, I think it's -- I think customers honestly have a right to ask:  What does all this mean for me?  And I think that is what I am trying to get to.


MS. COLLIER:  Okay.

MR. SCHUCH:  Would you be okay with an undertaking?

MS. COLLIER:  Yes.


MR. SCHUCH:  Thank you.  We will call that TCU-RO 1.8.

UNDERTAKING NO. TCU-RO 1.8:  to provide Bill impact over each of the five years of the plan 2014-2018, for rate 1 and rate 6, relative to the base rates with the SRC impact shown separately.

MR. SHEPHERD:  And you can do that with and without SRC?

MS. COLLIER:  Correct.


MR. SCHUCH:  Yes, in fact, I would like to see the SRC as a separate amount, separate from the basic revenue changes.


MS. COLLIER:  Yes.


MR. SHEPHERD:  Was that 1.7, you said?


MR. SCHUCH:  1.8.


MR. SHEPHERD:  1.8.


MR. THOMPSON:  Does that include the commodity cost of gas as well?  I mean, is that going to be in the bill impact?


MR. SCHUCH:  Yes.


MS. COLLIER:  Well, all of these bill impacts are for a T-service customer, so it excludes commodity, but it includes transportation load balancing, right, so we are keeping commodity out of the equation.


MR. THOMPSON:  Right.  Is that what you want, Colin, commodity out of the equation?


MR. SCHUCH:  I think we need to include commodity, because a bill impact -- well --


MR. SHEPHERD:  No, there's no commodity --


[Multiple speakers]

MS. COLLIER:  We always quote T-service, Colin?


MR. SCHUCH:  Yes, I will back up.  I think you are right.  It is on a T-service basis.

Questions by Mr. Shepherd:


MR. SHEPHERD:  I am just looking at this table in the stuff you filed yesterday, the table 1 estimated average rate impacts, and we already know that doesn't include the impacts of SRC, and I think you gave an undertaking to provide that with SRC included; right?


MS. COLLIER:  Mm-hmm.  Yes.


MR. SHEPHERD:  But this is all -- this is all -- in Rates 1 and Rate 6 you get, what, about half your revenue from fixed charges, or so?


MS. COLLIER:  Mm-hmm, slightly less, mm-hmm.


MR. SHEPHERD:  Yes, so these include the fixed charges, so actually your volumetric rates are going up a lot more than this; right?  They are going down a lot more in their first year and then they are going up a lot more in subsequent years, like twice as much, the volumetric rates?


MS. COLLIER:  But for '15 and '16 we have customer additions in the forecast -- like, we actually have a volumetric --


MR. SHEPHERD:  No, no, I understand.


MS. COLLIER:  Right?  So you get additional dollars in fixed charges in '15 as you add X amount of new customers, so there is some offset to that -- like, your whole deficiency or sufficiency is not totally recovered.  There is customer additions that are added, and within that is customer fixed revenue as well as distribution, so there is some offset to it.


But to make the adjustment, all other things being equal, it's happening to the block distribution rates, if that's your question.


MR. SHEPHERD:  Yeah, all of the amounts that you are adjusting in rates and in SRC is entirely volumetric throughout the entire five years; right?  There are no changes to fixed charges.


MS. COLLIER:  No, there is no proposal to change the fixed charges; correct.


MR. SHEPHERD:  So the result is that in the first year people with a high volume do much better than average, but in every subsequent year they do much worse than these numbers.  So, I mean, I am thinking, for example, that the volumetric rates on average will be going up in 2016 probably 12 percent, I am guessing, 10 to 12 percent, because you have to add in the SRC impact, and then you have to add in the fact that volumetric is only a part of the bill.  So the actual -- the unit rates, the blocked rates, will probably be going up 10 or 12 percent in 2016.  I --


MS. COLLIER:  Mm-hmm.  I don't know what the number is, but your theory is correct.  Part -- whatever the deficiency number that Ryan will produce -- will give to me, so again, you are going to apply your revenue to existing rate, so there is some pick-up, if you will, that happens from fixed charges, et cetera, in any given year, but otherwise you are -- because we are not proposing to increase those fixed charges, the adjustment will be, in the example of Rate 6, through the blocked distribution charge.  And yes, depending on what your consumption is, it makes a difference, as well as the level of your SRC.


So if you are consuming more, if you are a higher-volume customer, you are also going to get more SRC back, but you will pay more through the distribution blocks too, so you are quoting 12 percent, and I am not sure if that's the number, but that's how it works.  You're obviously going to get back more because you are consuming more volume through the SRC credit --


MR. SHEPHERD:  Well, but remember, after the first year the SRC number is actually a rate increase.


MS. COLLIER:  It is, but it is still a decrease --


MR. SHEPHERD:  No, no, I --


MS. COLLIER:  -- no, I get that -- no, it's a decrease on your bill.  It's an increase versus the prior quarter, if you will, a prior year.


MR. SHEPHERD:  I am just going to have to go explain to Toronto District School Board why their distribution bills are going to go up by 11 percent, let's say, in 2016, and they are going to say, Wait a second.  We thought you told us it was an average of inflation.  Well, it isn't, actually.


MS. COLLIER:  I don't know what the answer to that is.  I mean, this is no different than what we had proposed in our filing and how we had proposed to give back the SRC credits, so these rate impacts are not dramatically different.  The Board decision has been reflected throughout, as well as the SRC additional give-back, and those are -- this is the fall-out.  I don't know what -- sorry, I don't know what else to say.


MR. SHEPHERD:  I just want to make sure I understood it.
Questions by Mr. Quinn:

MR. QUINN:  Colin, it's Dwayne here.  Can I ask a question?


MR. SCHUCH:  Of course, Dwayne.


MR. QUINN:  Okay.  I just -- I had asked a question, the third question in my e-mail over the weekend, and in terms of -- can you just provide us at a high level what the drivers were for the reduction load balancing?  The reason I am asking is, obviously we still have some work to do for this winter in terms of ST, FT, FT, and all that kind of stuff.


What assumptions have been made, and then how is that reflected in your numbers?  So if you can just give me what the drivers were that reduced the load balancing cost, that would help inform subsequent discussions we are going to have.


MS. COLLIER:  Okay.  If -- so the base rates were the October 1st, 2013 rates, so those were underpinned by our 2013 gas supply plan.  If you recall, in the fall we filed an updated gas supply plan.


MR. QUINN:  I am very familiar with it.


MS. COLLIER:  In the fall.  I can't remember the time period exactly.  Part of which was a change in our contracting and part of which is where we removed the unabsorbed demand charges in our rates and it was put in a deferral account?  Do you recall that?


So the outcome of that update to our 2014 gas supply mix that happened in the fall -- so when we originally filed evidence we filed on April gas costs.  When we updated in the fall we updated for October gas costs and filed a new 2014 gas supply plan, and the fallout from that plan was a reduction in load balancing costs relative to our October rates.  So that is now being implemented as a result of the decision.


So there is no other change that happened to load balancing because of the decision adjustments that Ryan spoke to.  This was in our initial application as well.  If you go to the H exhibits filed in the update that happened in October, you will see that same roughly $20 million adjustment that's sitting there.  It's the same rationale.


So nothing has changed in terms of a gas supply plan mix from that Board-approved motion that went in place in the fall -- I'm sorry, I don't have the dockets and dates in front of me.  It just was in the fall.  Yeah.


MR. QUINN:  So the summary is you've reflected appendix N, the STFT was moved to FT, UDC --


MS. COLLIER:  Correct.


MR. QUINN:  -- deferrals were created --


MS. COLLIER:  That's right.


MR. QUINN:  -- as the load balance [audio dropout] were reduced as a result.


MS. COLLIER:  That's right.


MR. QUINN:  Okay.  That's --


MS. COLLIER:  You said it better than I.  There you go.  Okay.


MR. QUINN:  I just wanted to understand the base case going forward.  Okay.  Thank you.


MS. COLLIER:  Okay, you're welcome.


MR. SCHUCH:  I had a question on appendix G of the rate order, the draft rate order, and that is the schedule of depreciation rates.  There is a two-page quite detailed listing of all of the assets, at least all of the asset classes, and the changes to the depreciation rates.  I assume this was related to the Gannett Fleming analysis.


And just eyeballing it, Ryan, I see everything in these two columns is lock step the same except the plastic mains, number 475 on the first page.  You will see coated and wrapped steel has been reduced, cast iron mains have been increased.  I am not sure why -- okay.  I think I -- yeah, the cast iron is obviously not plastic, but the plastic mains, the coated and wrapped steel, cast iron, and other have been changed from the original filing.  I was just curious as to why those particular assets were --


MR. SHEPHERD:  Is this a comparison from existing rates or from original filing?


MR. SMALL:  No, this is a comparison to the 2013 rates that are in place.  So we are trying to say that previously approved depreciation rates were the first column, the new proposed are the second column, and I think you will generally see the depreciation rate is changed in the accounts where we are collecting an SRC, a net salvage amount through the depreciation rate.


What you would see, though, is if you looked at our as-filed depreciation rates -- or proposed depreciation rates to this, there will be a subsequent change as a result of reducing the SRC amount we are intending to collect by a further 85 million.


MR. SHEPHERD:  Can you redo this table and put a column in the middle which is "proposed depreciation rates"?


MR. SMALL:  Like as-filed, kind of?

MR. SHEPHERD:  Yes.


MR. SMALL:  Sure.


MR. SHEPHERD:  Then we would be able to identify exactly that.


MR. SMALL:  Okay.


MR. SHEPHERD:  That would be very useful.


MR. SCHUCH:  And that would be TCU-RO 1.9.
UNDERTAKING NO. TCU-RO 1.9:  to redo the table with a column of "proposed depreciation rates"

Questions by Mr. Schuch:


MR. SCHUCH:  And just a further follow-up question.


Typically in a draft rate order, the appendices filed are what the company would expect the Board to attach as appendices for its final rate determination.


Was this particular appendix G with the depreciation rates, was Enbridge considering that it would like the Board to acknowledge this in an appendix?  Or does it matter?


MR. SMALL:  I think our intention was as a result of the Board decision and our requirement to reduce the amount of SRC we are going to collect by a further 85 million, we had to put something on the record that reflected that, because that SRC reserve collection is through depreciation rates.


So to the extent we had to have depreciation rates adjusted, we felt we needed to get it on.


MR. SCHUCH:  So it's more of a communication exercise; not so much you are expecting the Board to acknowledge that these are the depreciation rates and include it in its final rate order?


MR. SMALL:  I think we'd want the recognition that these are the approved depreciation rates for the '14 to '18 term.


MR. SCHUCH:  So I am interpreting that the answer is yes, you would like to see an appendix?  Okay.  Thank you.


And I had exactly the same question about the following appendix, the unplanned debt issuance, appendix H.  We looked at this earlier today, where you had all of the new -- the revised debt issuances.


Would Enbridge also be looking to the Board to acknowledge in an appendix to its final rate order this scheduled debt?

MR. SMALL:  I don't know.  I guess it kind of depends on what happens with the outstanding issue of how do we treat debt costs.  This was a proposal.  Again, we were trying to show what was reflected in our financials, and we weren't proposing to fix the cost rates for '15 to '18 debt issuances.  So I guess we weren't looking for approval of everything on this.


I am probably not being very clear here, but we were trying to show what was included within the financial results we presented, but subject to updates that would happen in future proceedings, so...


MR. SCHUCH:  Well, Mr. Thompson earlier today suggested that Enbridge was, in effect, asking the Board to make a finding -- this is what I heard him say -- on the revised debt schedule.


I don't know if the Board will make a finding on that, but...


MR. SMALL:  I guess this would have supported our proposal to fix the level of debt issue, I guess, and all the variables on it wouldn't have been fixed at this point.

MR. THOMPSON:  I think it ties in with the appendix F that you have here, where you have your summary of components to be updated.  I think you just have given everybody notice.  I am not so sure you are asking the Board to approve this, but in item 9 you say that Enbridge has provided updated required, planned levels of debt issuances.  And then you go on here and this is your proposal, that scrutiny in future years just be confined to the issue of rates.


I think that's a matter in dispute, quite frankly, and others will have some submissions on that.  But I don't think you need to have the Board approve -- I don't think the Board would be inclined to approve, necessarily -- these debt issuances that you have provided.


It's more a statement of evidence than a schedule to the order, as I see it, but that's up to you folks to decide, I guess.
Procedural Matters:


MR. SCHUCH:  Thank you for that.


And I did have another question about timing.  Clearly today we have a number of undertakings that Enbridge has agreed to go away and provide, but it seemed to me that the Board's decision with reasons had no process included for undertakings and timing.  It only has a date of next Thursday, August 14th, for parties to make submissions or comments on the draft rate order, and then Enbridge would have a right to reply the following week on the 20th.


I would imagine that parties would need the results of the undertakings prior to making their submissions next week.  So I wonder if it makes sense for us to decide on a -- collectively here, today, on a reasonable date to provide the undertakings.


Today being Wednesday, would this Friday the 8th be reasonable or not?  Jackie, is immediately shaking her head.


MS. COLLIER:  Some can be done by then.  I can tell you some will take longer than that.  I need to sort of walk away, but I don't think I can get them all done in two and a half -– well, less than two and a half days from now, just because I will require some inputs from others.


But clearly our intent would be to get it to intervenors and yourselves prior to submissions.

MR. SHEPHERD:  I would be okay with Monday.  If I had them on Monday, I would be fine for submissions on Wednesday or Thursday.

MS. COLLIER:  I think some are more argumentative than others -- I will call it that way -- if you will.  Like, some are just you are just wanting it on the record.  I don't know if much would change, the fact that it's -- for the rate impacts, for example, the additional chart with the SRC credits, I am not sure if any argument is going to come out of that or any change, but others may be more a basis for argument, is what I am trying to say.

MR. SHEPHERD:  Can we target August 11th?  And if you can get us some earlier, that would be great.  Is that unfair?


MR. CASS:  That is what we will aim for, yes.


MR. SCHUCH:  Anybody on the phone have any comments?


MR. QUINN:  I am a little concerned how tight things are, Jay, if you say you can get them on Monday and we have argument on Wednesday.  We also have the earnings --


MR. SHEPHERD:  It's Thursday, actually.


MR. QUINN:  Thursday.  Okay.  Excuse me.


But we also have to have the earnings sharing mechanism reviewed and IRs in at that time.  So there is a collective here.  Everybody has their respective issues.


Maybe Jay can do it in two days, but I am seeing that as problematic.


MR. SHEPHERD:  Can I suggest that we play it by ear and see how much this stuff influences our ability to do submissions?  And if we have to be late, we can ask the Board for permission.  I am sure the Board will understand.

MR. SCHUCH:  Are you?


[Laughter]


MS. SEBALJ:  We do have some constraints, given you are all aware of the Board Members that were on this case, so we can't let it go too far.


MR. SHEPHERD:  No, I understand, but we are having -- in addition to the -- to what Dwayne was talking about, we are also writing OPG argument.  And needless to say that's taken up a little bit of time.


But it still has got to get done.


MR. SCHUCH:  We almost need an argument-in-chief from Enbridge on this.


[Laughter]


MR. SHEPHERD:  Yeah, perish the thought.


MS. COLLIER:  I am just wondering if -- I guess we will cross that bridge when it comes to it.  If there were to a be a change from what we submitted, then the October 1st implementation date would be in jeopardy; correct?  Like, whatever the Board may ultimately determine once these submissions are heard, if there is any change -- something like the rider C or the rider D wouldn't -- not rider C, sorry.  Rider D wouldn't be too -- but any change to the rates themselves could not be turned around to, I don't think, get approval before October 1st, but maybe we will just wait until we cross that bridge, but it is just getting pretty late into August by the time our submission is due back, and then if there is a change to our submission you are coming very close to September 1st, to which case we will be doing an October QRAM, to which we need a base rate to do it on.  So that is all my concerns in terms of very tight timing, that's all.


MS. SEBALJ:  Well, let's see what we can do with a Monday deadline, and Enbridge will make us aware if that can't be accommodated for one or more of the undertakings and do their best to get them in before that.  And no one in this room has ever been shy to say they needed more time, so we will see how that goes.


MR. SCHUCH:  Are there any further questions, comments from folks on the phone or in the room?  If there aren't, I propose we conclude the technical conference.  Thank you very much, everyone.


--- Whereupon the hearing adjourned at 12:55 p.m.
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